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INSTRUCTIONS

I, Thiz Test Rooklet containg one hundred and fifty (20 Part ‘A*+ 50 Part ‘B’ + 80 Part 'C")
Multiple Choice Questions (MCQs). You are required to answer a maximum of 15, 35 and
25 questions from pant "A' ‘B” 2nd ‘C' respectively. [n case more than requited number of
questions gsre answered, only first 15, 35 and 25 questions in Parts ‘A’ ‘B and O
respestively, will be taken wp for cvaluation.

3. OMR answer sheet has been provided separately. Before you start filling up your particnlars,
please ensure that the bookiet contzing requisite number of pages and that these are not tomn
or mutifated. If it is t0, you may request the Invigilator tor change the bocklet of the same

code. Likewise, check the OMR answer zheet alsc, Sheets for rough work have been
sppended to the test hookiet.

3 Write your Roll No., Namo and Serial Number of this “Fgst Bookler on the OME angwer sheet
in the space provided. Also put your sipnaturcs in the space sarmarked,

4, You orust darken the appropriate circles with s black ball pen related {0 Roll Number,

Sub st klel & Centre Code r sheet. It iz the gl
r nsifrility of the candidate o meti follow the in i on_the
Answer Sh fling_which, the computer sha mble o decipher the correct

ils which otay pltimatel ip | incloding rejection gf the OMRB answer
sheet. F

L Each guestion in Par} 'A’ and ‘B’ carty 2 marks and Part “C* questions carry 4 marks each,
respectively, There wiil be negative marking @& 0.50 marks for sach wrong answer in Part
‘A’ and ‘B* and [.32 marks for Pan 'O,

6. Below each question in Part® A’, ‘B and 'C* four alternatives or responses are given. Only
one of these alternatives is the “correct” option o the question. You have to find, for each
question, the comrect or the best answer,

7. Candidates found copying or resorting to any unfair means are liahle to be dizqualified from
thiz ead fiture cxaminations.

8. Candidaie should not write anything anywhere except on answer sheet or sheets for rough | ||

work.
o, Use of caloulator is NOT permitted.
0. eat i3 over, at th rarati int, tegr the OM sheet, hand ov
* the originat OMB apywer sheef fo the Invigilator apg retpin the carbonless cony for
rl.
11.  Candidates who sit for the entire duration of the exam wilt oaly be permitted to carry their
Test booklet.

5127 CISRf18-2AH—1B
2-A-H



2-A-H

TABLE - 1

FOUR PLACE COMMON LOGARITHMS

logy, Norlog N

- Fropurticnal Party
N o 1 2 1 4 3 5 T 1 ] 1 22 48 & 1 & g
L0 § DN OD43 O0%G DITZE OF70 G232 2B O8R4 0974 03 [ 4 ® 1m 17 2106 28 3v owv
111 LA G451 0402 OG31 6M6% . DRO? OMUG ORRE OTED GBS [ 4 RNl 8 1D 22 e 0 34
12 | GY02 OHZN ORf4 OmE3 DS30 [ GuED ooy 1038 1672 1106 1 3 7 10 &0 17 §1 94 MO8
13 | 198 317a 1206 123l peT | 1 L1836 1387 1300 td30 [ X & 10 1% 10 1p 2 6 2o
14 | B481 1492 1629 1553 1884 | 15t4 1444 098 070x 113z | & 6 9 12 15 1B P g 2T
15 | 17TG1 1790 IXIN 1847 1978 ADOY P31 19859 1087 014 |3 & @ 18 14 17 20 22 25
16 | 2a4r gosg o9 2130 2HE | 217 2001 22T zusn sy T B OB 11 OEYOIE LH B3 i
17 | O304 Z5H) Z355 PAM0 2403 | $4850 2468 TABO o4 2n | 2 5 7 10 37 15 % 23 22
18| EBSE ZGTY EGOr »eES TEaR | 2ATY C4DE V14 4L Ivos | 2 05 T w18 14 16 16 g1
I8 | ZYEE 2810 2848 PEAG PETR | sSupy gepa 045 2wat 26RP (2 4 7T B LI 13 Iu a0
20| IG10 A0%E 3064 1976 I0Ue IR 3198 zron A0 EEm Z 4 0 B I O1% 3K |7 m
21 | R T3 BI65 ATBL TI04 | hx94 JHE Bl AMG M4 | 2 4 5 5 20 12 4 10 N
T3 | 3424 30ad J404 380 HEQR XBZ2 J54F ARA0 FRTL S50 | 2 4 & w1z 14 6 17
¥ P 3617 aG36 B8EE MATY el 3L AVED ST ATe6 aTME [ 2 4 47 o1t 18 1% 17
&1 | su07 3EM0 3TV 3RAG BET4 AR AP AT XHE EOGE RN B T R LT TR T
2% | 3675 XWDT 4014 4OTL fO04R | 4005 4082 400 4008 418 |+ x5 7 9 g 12 14 15
26 | J1B0 4160 4145 4200 4210 | Ao ARIF 4208 42R| 4294 [ 2 31 B T u 1o 11 13 16
BY | OBIL 4330 46 4502 a3t ASRT 408 L42% 440 iS5 | 2 3 B m i £ 11 13 14
29 | AT 4487 W002 618 4833 | JE4A 45 4N 1584 d800 1 2 3 & 4 B 8 13 17 14
I 1 oAd22 4430 4034 465D JURT | g ATHS aTER 4742 aTAT [ L 2 o4 g ¥ 719 (2 13
A8 | 4771 ATAS BN dWId AHZY | 4849 4BST d4TE 4385 §PA0 1 & 4 8 7 9% 1 11 13
L] 2514 JDER 4T 4S5B 49ED | apmy AFRT EB11 SO B038 |1 A 4 & 7 R 10 11 12
32 ] BGE1 BOGE A0TR Bbpz 51 | E119 Bi3T BidB B5LED kiTg t 3 ¢« K 7 % P 11 1%
A | SIBS BLPA 5311 Me4 Seat 280 GeAy 5T E2mD EAR L 3 4 6 68 8 9 10 17
44 | GI1IE SEEE B340 BEAA BaRg 54TR B3I BN B41G MR Il 2 4 8 € 3 3 1811
35 ) K441 GAST 5485 5478 5490 | BEDZ BE14 8EZT E5TD 1131 i 2 £ & & 7 9 10 01
36 | BSGZ BATE BEsT BREy Bali 38Xt Bd3E GR4T As5a §rg 1 2 4 F & 7T B In 11
3T | 882 5484 5Y0S 5717 5720 0 ETRZ ETOY BTTE 3. 1 ¢ 4 5 & 5 § @ i
Mt BTEE BB ER31 S3%2 BALS 5888 E386 SBTT KRR BASD 1 2 3 6 B 7 % 9 14
38 | ol EBRT 5938 BB44 B50CS | fpes GOY7 RNA SUwt @016 | 1 £ g5 4 8 7T & 018
18 1 6021 £031 4042 £33 SO0 | goTs G085 B0RR £107 A157 |1 2 oM 4 § & & ¢ 10
il | BI1ZE 2138 E)40 BLGO BY%G GIEG 6191 4201 0:1% Gouy 1 2 3 4 8 6 717 8 ¥
43 | 23R €24 MESE 8RR g4 | egsa G2R1 G304 o314 Ba286 | 1 ¥ 3 4 & 2 7 B 8
13 Ciak AME GI5E WNAS AITE IR BATE 5408 LIS Gifs I £ 3 4 B & 7 % &
44 | B4SED Gddd #4564 Gad 4474 | addd B3 AbQ3 LY R L 2 & 4 5 a 7 a o
45 | 03T AS4? &BSS ORg) AET) GESD BM0 GESG &R0 K1 1 & 3 4 86 8 7 B »
M ; GAZE f88Y GAIE G45A BGES 6878 BOAd B89 6702 TRl E 3 g i & 8 ¥ 71 =&
47 | o121 &30 0739 AT¢P STh8 | 6TET STIC WTRE @Ty4 Ga03 1 2 & 4 5 856 8 7 3
48 BEIZ 8521 BE30 SA%Y ga4d SEdT LEES GRTE ARA4 DKL} 1 2 4 4 4 5 6 7 &
% | Ze0= e8Il Eog0 3R Gus? | apdg swEs 1864 #5073 God1 I 2 R 4 & B 8 7T N
| GEBD BRE TOOT TOLE 094 1035 TO4E TMMD TOSS TOGT 1 2 2 84 4 5 8 1 &
81| TOTE TOG4 0P TioL TIIS | T TI86 TIRS T1e% T152 1 2 2 38 4 5 8 7 &
B | 7180 Ti&4 TI™ TIBE Ti0y T20R TRLG TZIR TRE0 TN | 1 @ a4 2 4 b 8 + 7
84 TEdd 72B) TS0 ToGT T | TERs T2 TMOO TROR =14 i 2 2 ¢ & 0 8 & 7
B | 7324 OTERE TR0 TaeH T4 | 7864 TEYZ TiRG TIAS Yaog ! 2 2 % 4 B 5 8B %
N ] : ] -] 4 ] [ | 7 ] ] I 2 3 4 %5 & 1 8 @




2-A-H

Proportions] Parta

O T A Yok o8 o g e
55 | 104 T1E PAIA T4B7 MBS | MAE TASL oGO 460 TATE [ 1 £ 3 2 4 & 5 68 1T
BB | T4ED T400 THOT 1505 TEIN | TGU0 T6%A TERG TEAS JEEL {1 2 2 B 4 E E & 7
87 | 7TEED TEAR T4 TEE? YES0 | TGOT Toow THIT fe1m TaRT |1 % oz % 4 A 5 8 T
68 | 7884 THLER TR4E TGST 064 | TETE YETD TOSE TE%4 TGl |1 £ £ @ 1 4 B 6 T
Bi | 7768 TTLE T3 TTIL M | Ti46 TYER TMEO YYET TYTL |1 1 2 a 4 & B 7
G0 | TIEZ TTRO YTBE TEOR TRID | THIH 7824 TOSD TH49 THN6 |1 1 2 3 4 4 & 4 &
81 | 7HSI TEGO YRGS THTE TH6E | 7BHD TA®s THA TH10 7EIT (1 1 2 3z 4 4 E & &
62 | THEA TOE1 FREA Thab TR TOEE TR08 TOTY TOBD TEEYT [1 1 X ¥ 3 4 5 & &
83 | THUX E0O0 BOOT 2914 B2l 8023 BOBE BOME DM AOBS |1 L 2 9 ¥ 4 B E &
84 | BOB2 BOGY BUTE B0E2 A0S0 | 2008 8502 Bi0¢ BIN6 MiZE |1 1 2 3 % 4 B B &
85 | &128 2136 Ei4x A149 E15A | BLST 9180 8479 BISS 4189 |1 i £ 3 3 4 5 5 &
& | alse RMR 9 FEIG 2P SI2% S0MF AS1 BR4R B |1 1 £ & 3 4 5 M B
B | RSl S34T AT4 BEO SoMT AP0 B0 Njod A2 RSN |t 1 2 3 85 4 % B 6
BE | BODE -932] BRO4 BA4d BASL | 2057 G403 BITO &%V RWR® | 1 1 ® B 3 4 4 E &
69 | BEEZ ERUE 201 B407 S4L4 | G4Z0 M20 MEGE B30 BdaG [ 1 ) 2 2 % 4 i b &
TO| B4AL 84T B463 8470 AaTH | B4BZ B49A figd 2500 mEos | 1 1 T E E 4 4 § &
TL, BOAE BELD RG20 MES] KNZT | BAMS BS4Y GBS BMET BGeT | 1 1 £ g % 4 4 5 5
T3 BETL 95T GERE HGY) BNOT | BAOZ BA0D BOLS BOZ1 AGET |1 1 2 £ % 4 4 & )
T3 | B33 863% ASuE 6Bl DAET BAGY BOCD Ad7s eéml Rozm |21 1 2 2 8 § 4 & E
T4 | GRU BABE BYDA BTIO BYIE | BTRE ATEY BTSI GTP &T4B | 4 1 Z 2 3 4 4 B &
T | BYEL §TEG ETG2 ATH BTT4 | ATTH GTHS BTY] AMOT BSOE | I L % 2 4 3 4 5
| BSCE M4 BEI0 RRYS 631 | $837 MBA2 BRME EE54 5550 |1 1 T 2 4 % 4 B &
TT | PG5 BETL A4T 8230 BSET | SEow Savo Spgd 8910 3w J 1 1 £ 2 3 &2 4 4 5
T8 | E92L EPRT 4934 R9MR SPAA | BV BOEL APGO A0BK MTI f1 1 8 @ 3 E 4 4 5
T | BOTE BEEZ BEST AG0A HApE MNMNMMMIIEEEIJ.I!
B | DOZE D0BA POHT HNT S0NA BODE S08 SUB) BOTH BOTE |1 3 2 2 3 3 4 4 B
A1 | D085 000 S006 SI01 8106 + 0332 GTNT PIEY BIEA W1 I 1 2 2 3 3 4 4 K
B2 | 130 O14E H148 U1E4 §LB2 | HIGE G170 STE IS0 S1EM |1 1 g 8 3 g8 4 4 5
BE | ML 0106 E20]1 0G04 DAZ | ORIT OB2R BEIT e3P 9EA |1 1 % 2 3 9 4 4 5
84 | SB43 B249 259 0254 REAA 2GR BIT4 GRTD PREM UM |1 1 % & B 5 4 4 B
65 | D2O4 200 DAM SROD BRIS BEED DEED 0330 834 EB40 |1 1 R £ A B 4 4 B
(B8 | B34E S3G0 YAGE BSG0 SEAS | RN BEUE 99RO G5l #0300 |1 1 2 % 8 B 4 4 B
B7 | 9388 9400 408 5410 SARC ! 420 B4ZG SLI0 Od¥H WesD [0 1 1 2 9 & g 4 &
B | LE DMBG UABE G400 BB | D4PB BITE T4TD DEE4 MBS |0 1 1 2 2 B O3 4 4
B | D434 MOL M4 S5O0 OWLR | 5510 SbiW 952D 9E)3 NG3E | QO 1 f 3 % 1 5 4 4
0 | BEEE BGT DOEZ BEET QhaA 500 BETI G5TO OBRI S4B 10 1 1 £ * 3 8 4 4
AL | 05RO 9535 G500, SA05 M0O0R | BOld GEIP PES4 D Bels |0 o1 1 2 B a3 a2 4 4
B2 | BEIR DGE3 SRAT BEZ $RET GBEL PORG OBY1 BATE 0ER0 |0 1 1 3 2 & 3 & 4
04 | OGBE DER0 DA OR9F OTID | TS STIX STIT 9TZE WIRT L1 12 2 8 % 4§ 4
B OBIAL SYRA P BME OTED | OB G7BD STGI STER BATE ] 0 1 1 2 oz oA L A |
B | 9777 GYRZ OISG 4791 9705 | D400 SROG PRO OGR4 oR1E |0 1 1 T 3 3 & a
W6 | 9823 pEPT QAmY SaRd ER4) $MG CRR0 PObs DOEP BB81 | D 1 1 2 2 @ £ & £
BT | 9863 9ETS OBTT DUE1 LEHE | SERD £E04 0200 phcA Soog 0 1 1 2 2 83 % ¢ 1
BE | 0012 WOLT 901 9920 G9a0 | AN OUBY DOMY DU BUEZ |0 1 1 2 2 § 3 4 4
07 | DOEM BOd1 2345 SUEY BT SR PRSI ODET P91 H9Be (0 I 1 2 2 B X M &
N ] 1 -3 H + 5 ] T a ) 1 2 3 & 6B 8 7T 8 ¥




2-A-H

TABIE - 2

FOQUR PLACE COMMON ANTILOGARITHMS

10”7 orantilog p

x Proporuionsl Farts

# [ 1 x H i 4 [ ] ] | [ ] L 2 2 4 % 8 7 & 3
B4 | too0 jooEr M08 00T 100R | JOTT 1G04 I0US 1009 MK |0 & 3 1 1 1 § & 2
01| 16E1 MIE I6EA 1080 RUAS [ 1005 1038 1040 fON% JoM& [ 6 e 1 3 1 1 2 § 3
AR 2047 RO IASE 1064 1087 | 105G 106K 1084 1067 166w J D O 1 F 5 [ 2 3 4
09 | NOTT JOT4 LOT6 AOTD 108y | A0S LGM iodo 10@1 loW |0 0 I 3 1 t 2 2 %
A4 1 e 109G 1108 L1c4 1307 ) JIOK KIAR (104 1107 wav | ¢ 2 b 1 1 2 oz o= B
O8] 11EF ARG 1EST 1159 (43E ) 3125 LIEM 1140 4% 154n | @ 5 0 A 1 2 P 3 2
D2 L ITJE TIEY 1150 IREE 10SE | N16) Lidd o7 I1eR 1572 | 0 3 L 1 1 ®2 % % %
A7 1 N1T6 108 1EBG KIAY ipse | L1END 1191 1984 1907 1100 | 8 T 3 3 1 2 3 3 B
AT NI0E 12 1B0m 1310 IRAA ] Lipe phae 1zE2 1288 pm7 |l e 3 1 1 1 2 % 3 3%
L8| ER30 22 JERR 32RR RB4T ) MBS0 1247 19%0 0250 eSS | 0 X 1 1 1 0z 2 %2 3
JF | ARED PRGD Q0N5 I30S ERTN | IZT4 1RTE reve mer 1ems e 1 1 1 1 g o3 o2 3
A1) 1IRF IPPL 1%6d 1Y 1800 | w30m 1209 %48 a312 wis e 1 o2 5 2 2 ® 3 &
A2 § ISEE O LAEL 1384 AT 1330 [ R3S 1BST P340 1B4d e f O 1 1 1 2z 2 3 2 3
A3 F LMD IMGE VGG NRES 161 | 3G JMGE IATI EXNL IATT [ 8 1 1 3 2 £ % 3 3
A4 | OIEAF 1BG4 GAST 1300 IMRD | 1998 1400 M0 MM 409 | 9 1 1 ) X ¥ 2 % 3
JE | LAAR I 1410 JAEE 1426 | H4ID 1483 1435 1435 I4£2 J 0 1 1 1 2 * 3 2 3
A8 | VEIE MR 2460 L4BE 1465 § 48R A4S 18P TR W o 31 L 1 2 oz 3z 3 38
T MTR I4BR MGG neds 6P 0 P98 1500 1502 1507 IO f o 1 1 1 F 2 % a3 g
21 I8 IEAT PERD VRS IGHN | INZ1 ISAS IS8 ISZ 1548 [0 I 3 1 £ E 7 8 3
YL OIMT 1562 155G LGS RROY | IBST 16WG 1474 1878 1561 | @ ¥ 1 1 * £ 3 3 3
b [ IBRGE LERO 1582 IBGE 1e00 | 1603 I60T 1611 16is 1M ] 8 1 1 1 T B % 3 =%
AL | st 1636 2630 1633 IAAT | lewd 1444 TESE 1433 1085 ] & 1 ] P ® 3 % t I
A2 | IBEL IS IAMT INTL LATH | 1679 1683 16KT 1950 %4 | 0 K 1 * 2 8 3 % 3
32| IGeR LYOE TS MPIG AL | PTIB O TTER 1794 9YM0 WM (B [ 5 4 2 £ 3 & 4
A4 IR OIT4R ITO6 NTE0 STH | 1783 1T6A ITOE 1TT0 IFTe |0 1 ) T OF O§ 3 % 4
26| LTTR AT 17PE APRI TG | 1P 103 B30T IMEL 1934 |0 1 1 3 2 2 3 1 4
26 | 1R20 IRM RIS 183 IX3Y [ R4 1845 1M9 1RG4 1% |0 1 1 2z 2z 3 93 3 4
T OEDER YEGE EETL JAVS 1279 | 1834 1628 a8d2 497 1901 |0 1 1 % 2 s 83 N i
AH | 0B (B10 1014 10T 16X | Ixs 1%a3 ae9m el WS 0 1 1 2 % & 3 4 4
LR | ENS0 1S4 1063 18EE 1963 | 1RTR TET )9S 1DME ioo | @ P 1 1 2 % 3 4 &
30 | I%RS BOOC ROO4 2000 2014 | BOAM OER SR 2ok2 2097 |0 1 1 T Z 8 2 & £
Al | 42 Mo Z0EL POGA WiNI | TME 074 MU7E SORS gy ¢ 1 1 E £ 3 E 4 4
A% ] BMMD B0G4 DG SH04 2100 [ R0) A1I8 218 BIZG I [ e 1 1 % % T % 4 4
A2 | R ZM1 140 NBT X5 | F163 RIGE S17E RATE $13% | o0 1 1 2 $ om oz 4 L)
A NIBE NS M U BN | 3R ESEF TSI SURS oEa 1 1 * % % 2 4 4 B
AR ] R0 204 RN 2264 BRGD | Erex RETE 216 2wy fhee {1 1 31 3 32 o3 & 4+ B
B8 | IRl EEMS 2B61 20T $30: | 2817 ZRPS SN 2333 PESW {1 I % % X N 4 4 K
37| B3 950 23RE 2960 gaed | BITL RaTT oM MM bysa |t 1 X X & 3 4 i B
I8 { 59 Rend BAL TALS MTE | 24T BARE BB RIS EidD 1 I £ £ 3 § 4 4 B
B | P56 ZatD P2emd TR B4TT 2487 BARY R4 ed 2604 [ 1 1L 2 T % 3 4 B &
AR [ 269% PEIE REES TRT0 255 | #5411 BEeT EEE PEEP E3s4 1 1 2 % 8 4 4 % B
At | 36T6 24T 2583 nGA BG4 | BO0E EROS SN MATR SR 1 1 2 % 3 4 4 % E
AR | PO20 MuE BOYD 2040 AR5 | M4 BT ROTA M6TO PES 11 ! x P o8 4 4 Eon
A | BOUF ESY JTOM VIO PTIS | BTRR TR T8 gl trém f 1 1 ¥ 3 2 4 4 B 4
44 ] 2TB4 ETAY SYET 2TUR S7M0 [ MM ST 210 reoo M | 3 I % 3 3 4 4 5 4
A5 J ABLE MEE 2E)| RASS RRGL | JES1 PR PAM NETI WETT |1 1 2 3 X 4 B B &
A [ BE0M SR9L EERT M4 2001 | FPIT PUMG EN31 BDAS ¥4 {1 1 £ 3 3 4 B B
AT | B EOER FOAL D4R SOTH | 200k-TSOR W09 X006 618 (L 1 2 3 x 4 B K &
AR | 20 ST SYEL B04L MMA | S065 ¢ M4 MTe Me3 |1 1 £ % 4 4 F 4 =
AR | W00 08T 08 A1 MR | 3238 BIRE MM43 3148 1185 |1 1 B F 4 4 E € &

» [ ] 1 a ] L] E 4 T [ ] 1 2 a3 &« 5 1 7 5 »




Preperional Furin

[ [ 1 b3 4 z 5 1 ] '] — P 6 7 3 g
G LI T T wgey S1AE | Aier Azes pusq 3w 528 |1 1 2 oa g5 3 5§ & 7
A1 0 A DEN BRSI dAR joen | 2eia TIED MM B AMM [ 1 @ @ T 4 OE B g %
AT LRI IHD m3T 33a4 nygd 50 MIST MNE 3373 s3w Il 2 2 939 4 FE 5 g 7
B3| 5304 8550 3403 Zd1T 3L A28 B 043 JuS1 mase | ] ? 2 & 4 5 6 & 7
A MAT 4TS SeRS 2401 309 3508 3316 HEL4 5% 3map [ L 3 £ 2 4 6 & & 7
A3 ) BA4R UES5 AMRS u5TR wARD 3562 8507 B606 3634 wmaEm | ) T 2 2 ¢ & B 7 7%
£ | 331 633 AGMA 4ESE 2Ry TR WL S0 3668 ATer | o T 8 B 4 5 B T B
<% | 3Ti% SYze ¥7E3 aTa nTER ALY XTET HTTE Y At [ 1 ¢ g ¥ &4 & £ 7T K
AR | OFS02 3RIL 381P uMTH  yRAY SRAF FEEG BG4 SHTS jaRR | 1 @ 1 4 % 5 € % =
A% | 3800 ¥esd Sp08 %917 a9zs 838 BME A64 BAGG 39TE |1 2 8 4 E B & T a
A0 | I9R1 3990 360D 400S 401R | o7 9038 J0dE A0S0 ABE1- [ 1 2 3 4 & 2 & 7 K
AL P44 4ORT 093 4102 431 4121 4330 140 4350 quEm |1 g P 4 3 4 4 § @
A2 [ ALGD Q1TH IRR 4158 4307 AFET LTET 4290 €240 4185 | 1 ¥ n 1 & & 7 & 3
SJEEORIOE a2TA 4285 4205 gu0s 4415 4325 M5 4248 265 | 1 2 X 4 R E T R w
S| d49BE 425 A3BE 4396 4q0n PALE 4426 2998 4440 H5T |1 g2 3 4 b 8 71 §t g
A - BT 46TT dANT adBR 4E08 | 4519 AS20 4597 AR50 46G0 | 1 ¢ o3 4 F &8 7T B u
A8 | 1571 BBl 4882 aenm 1413 ACM 404 IRS 46SH 4BAT | 3 2 % 4 B & T g o
LT | ASIT A2BR A5ED 4710 evE) 4752 4742 4TEN AT84 47vs |1 2 3 4 8 7 B 610
BB LOATEG 4THT 4HOR JRI5 SR31 4AET JESE ARG4 ABTS JHRT 31 2 s 4 8 7T R & w
59| 4HDE £50P Q920 492y g0y 4BZE 4050 4977 a%ER Boap | L ® Y E & % 8 9 10
do | BO12 BM3 SOBE BT EoEA EOTO SDEY BOBT 5306 ST | 1L z 4 P E T A B 11
I T B1ER Bla0 318F SEe4 K1To DIES EP00 §212 Bywq 5228 |1 2 4 F 4 1 s 10 n
S| R4 Szee SeTR Ss Eowy 6305 49| Ba3% 390 SUBE | 1 2 4 & &8 7 o1e 3
ST | BETO 583 BASE KOS 420 B33 B45 E4GM Ba70 S483 | 1 3 4 5 8 3 49 19 17
L M SBOR 5421 KER4 RE4E BBSH EHT2 S3BN 869 SoI0 f 1 o3 o & & B w9 10 12
T4 | 50T Se3s 5Gsp Eage Gis | 568 6502 BT15 BT £7141 I 3 4 & 7 &5 9 10 32
16 | STHS BTGA BTEL G784 SEOR SBYL SEM4 5B48 S#1 sx7M |1 o3 4 + T % 9 11 12
STT | GREZ X403 AME BO20 Sod4d | RinT BO70 EOE4 Gegd o012 [ 1 3z 4 B 7 I 11 12
¥ | K026 6039 GOGE #0607 sDu) GOBE £L0% B124 0128 Ki52 |1 3 4 & T 8 10 11 13
TR | 684 G1ED £1D4 (205 edga B2ZT S252 6U60 6981 908 |1 & 4 & T B 10 3} 13
0 [ 6110 €321 6i3v 8358 8963 | 6389 £397 aalg ey Mz 1) 2 4 @ 7 930 12 13
£1 | e437 6471 diBs 831 asle G631 Gb4d BBGL 6577 6502 | 2 5 & B 9 11 1® 14
42 L 4307 ALY FORT G65R Sadm 08K} 240Y AIIM G130 GT4E | 2 8 & C B2 @2 oW1 ir 14
B2 | 875 4TYG g HA0B &R €530 MARE £AT i E x B € 8 9 11 1a 14
B4 | 6018 8931 5950 8344 GPHZ | 6953 Tals Al T047 Toan 2 6 A 8 10 11 I3 15
SB[ OT0TY Tosd THIR TiZm T4 TEL TITE TR UL TEER { g o3 5 T & 10 172 1% 1B
BE | T4 TAGE 70T YRR tmiyg T3ZH IS TRO% YaTe 8w (2 a3 5 T & 10 iz ia 5
BY | Ta1E 430 4T HEd 7482 | 7490 TRIE TE34 TekL TEGR | 2 z 5 T @ 19 12 14 1&8
A3 | T0M TEDE TCR1 TARR TRES TOVL TS TTOG TTHT TIeE [ 3% 4 B 7 911 1z 14 36
B f OTTHZ ITED Tiog T316 Thla TASZ TRV THAR Tp0T T#ER 2 4 5 7 81114 4 15
M9 | 7043 ToEP Toko TYOE ERIT | AUEE EmOsd BOTZ 2031 Etin 12 4 g ¢ P11 1% 15 17
B | EI28 8147 B166 HIBS BX04 3 B2E2 AZ4) &Be0 E2TD mogD I 0 8 B © 1112 18 17
B2 | BITH BEIT B3B6 £375 poias 814 B4Z3 BAST RaTP B492 | 2 4 6 # J0 1% [4 1% 17
B BRIl BS31 RBET @ATO aESG B0 REMD RARO RATO Sg%) F o 4 & 8 w12 14 14 13
a4 | #7100 BTIzR 2TED ATTY M0 | ER10 B33 B3] SBTR Asye | 2 4 & a 10 12 i4 18 n
m'm:amm&mam WIEmDﬁTmmrdﬂamumnu
A0 | 2120 L4l 91EE 9ImF Doy PEM S24T WEGD 9250 311 | ¢ 4 & 85 I1 13 18 17 19
AT L 0UAY BUEN 03T 930T pd1e B4 BLGD B4 oS00 pO3e | 2 4 7 # 11 1% 1K 17 30
B8 | BERG ST 584 9016 38 bOAL DOBS OTNG OTIT SRR | & T % 11 1% 18 18 $0
MWHHHHITWHM mmmxmmnnvnuumum
pll!ld!l‘l‘lillll!,ﬁ?ii

2-A-H




NATURAL OR NAPIERIAN

TABLE -3

LOGARITHMS
log.xorinx

2-A-H

tn 19 w S.B081T

Eiu 1

dlm1a = 19129
Simid = ILEBM

Oln v = J048088
Bin 10 = DRTEIRY

x ] 1 b - 4 s € 1 i ]

142 |  Loohir D083 ARG e 039TT  .OMBTE SR E o BTEME DRILE
11 AL 10 JS1AEN S JLEI0A  RERTE BET-L ] AETON JRERY T
12 ezt L _E DL JI1611 2TEEs 25t 2z 3898 ' BT
itz Rl Srriirh e ABGL K- T T4n Xlaxl A2 R
14 ALY Jip ARSIE ST S0484  ATIES ATRAF BETH SO0 ST
1.5 ANETT ATT11 ALNTL ARETT AZITR A Ad4e AB0R ARTAR byt
1.5 AT ATEEY ABEET AKME AMTH  BORTR - S1reg Eiwra Sz
17 JFipeny 18 SRS SELE Boaky  L5OAT BERz STiE STHeE N s
[E ] § % ] SR LR S04 M 61512 ST K. ] A3027 PSS
14 A418a EITID  _EREEY ART5S T pea ATEH STy XD 0BMS
8] AUEES SENEX 010 Tk TIBEE TITHR4 o TETES FHoRT _ma
21 JHIH LT S -TSH1Z SO TaSeT TT0L Nyt T ] STEET IR0
2.2 ] T TR¥NE e+ Anae aol4E 851003 AnksE oy ] E - THE R -
Ly | Axar BXTIS B3 BAENT HBeis SRR E5nas 58y Kbt ig ATIEE
24 BTELT Iy ] SEETT £ SFI00 ABGRY o014 Abaze SO0 1. )
b 3] BT ) o] Sra sy A32tE 038D gl ] Surny 270 SE1GE
ia 53531 esting SErT PEees JHRA YR Ry L) o SEASE BIBEL
£ DRes SOSE 1.0008F 1004%  TANTDE 1OniEr  LOGEZE  1IMES LOSHES ) .Oe
RE | lLoruar LAIRIE 1AOETH 1AMOM L0dRBD LDATAE  LARDUE 105431 LOATIR LGN
28 | 108471 LMEEIFE LOTIEE 107300  1NZRMT AR 085D JOEBSA 10N 1405ED
A LOERGY L1014 L0594  LI0GRSA  LTEIAA EIMS14 F1841 LBF14E 1AD4R3 L.Igeny
31| LlE4r 1A%45T LINTED LI4T0E LI44EE  La£7Ed  LLISOST  LIEATE  LIGGGH 1.1eG0f
B2 | 1,18315 LISEET  IGHES  LITHS  LOUTEST LIVMAb LIBITE  LIBMATE  1.ETr 1 1BgED
34 | 1A0xe:  rasEms L6 REIPT LEOBVT  LTGHss TE1NSM 1JI4RT LE1TES taRcAd
34 | 12ENTE LPEAT1 1AROEd  TRITSA LEREIT LETRSY  F4ET LA 1LBETIZ LI
345 | LESETE  IEEEAT  1ABME  I0NITD 1A 1 ENGO5  1OMDTE  LITERT  LETEM  12TAIS
36 | 1E0RE 1RA3TI VARGIT  LIEMAS  L3DTRE 1294TE lEUTad 1300 1.90%F1 ) EeSEn
27 ] LA 1A1150  LELITE  LATAL L3N 1T 13348 SPTIeE IXIGTT  1OEAERT
EE | 132500 10TES LMOEE 154308 134587 134007 13606 LABIE LASEMA 1 Bed1
BA | L3GAEE  LIGEM LIS LGS 19TIHIE GATEYT 13TeR LITSTT 13158 13k
A0 | 198 1ASETY  TADIZE LIANTT 139634 1N0ETE  L40IIN 1AM JA0ERD Laens4
A1 | 145000 LORET TAIRES LAIAE L4000 D.gmany 1AZEEZ  HdiPr L430E1  LAEMTG
4 | LARA 14AVEE  LANBES  1AZSD  LAGSE 144EPE Le0rT  LABISY 140908 .Gty
43 | 14588 L4008 IABIEE  LJGEST  LAPTET ) 4TOLA  LATSAT  14ATTE  1ATHS 5 4TO3S
14 | LAEIS)  1ABMET JAREL4  L4EMY  L4v08E Li¥PY  LJ9BIE  L4PTED  14PGE3 150186
AL | 150408 L3NS0 LEORS]  1BL0FE  LBISRE  LSISYN  LBIGEE  LEIWG] LTIV 1NeiEs
48 | vELE0d  TADSYR 10089  1MKNISA  ARATI LGHOGT 1AM LEAIIE  LAEMGD 154541
&% | EBTEG 1AM LEBIET 158303  1ASMGM 168814 LAGORY  LSEMAE  L5S444 IEOMEd
48 | TAGAEE  FETOTD  LETETT  LATARE A ATON1 LETERG  1RIGM  LEAROS LM LENTES
0| LESEEd EESEEY  LB93T1 1RG4 LEDTET 1m09ah L4l oo LAORA 1Tl

n 1p = P1B0IEH 4w 10 w #2038 Tin 10 = 1419810




# 1] 1 | ¥ | .} [ 1T ] &
60 | 1d00m99  iiree VAT tsg 18T PEIwr 182137 Lemrns 1R jarT
Gd | LASDEL 1.0m1B8 paamLe LB eSS tmmon  yeieey 186087 186imt 180873
B2 | 104008 totkm  Dgepag R a1 - R TAGDIY  LBE20T  1dea3 1 cape
B4 01T 1asma 1T NEMIE 14723 10770 Y.eTHee LEMAY  1épods | agagsa
B4 | 1o8e0  1omead 1 gsmig LEREM LTS 1MGOE | anren Laspds LML toRwd
BE | LIM7F  L7vema  ).70msp L8 LHim  1irwe 151508 LITNS  1Tple  17eom
59 | LTV 112485 G LTehNE 1TRves LY3NE  bTamed 178809 LI3F 1T9RY)
AT | Ly LAERE  1Ya97 1™ LT4Téa  1.Teppo Iy 1.T8xeT 1.7M49 | Ta
BE | L7680 LImesA ITaims LT LWMTE L0 1.7e8l LS LTTee L TrEe
B | LATHE  LIvem 1T LTIDOE  LYSITI LI 1 huser 1.7887F 1743 170000
00 | LTHITE  LTHE4R  1TiMGD LTMSTE  LYEN0 100006 1017| 1LSE30 120680 150808
B4 © 1A08SE  LR0MEE  NNIVRS ALE  NAL4ME  sMIG4E ) Gimeq 186 e  taiar ) Manoe
42 | Lagasd e LaeTYT L3gvas  Lawim  taszia iy LEROTE  LEXTIT  latnes
B3 | L8OBM LMl 13T LRIN IBEERE  JB4Bdd  L9S00R 1 @sig0 158317 LAnyTE
B TIN  LBETRM  1.BAeds TAMMNT LN 1408 |.pnsay LASTIE  1LBAR"S  LBMad
S | LENEE 18T pavRT IATEL  YRTMN 1T Lamowe 1.5925]  1ERSIY 1 pNESS
&3 | LANIGT  SaEMER  Lemis LAS0 188311  1SeaeE  Lag 1LA0M6E 1wz 5oo
£7 | LBOFIl L0001 os0s LAED  1bokod  iewded 1 gtlog T L9l 10188
B8 | 1803 deex  ipiems TRINNE  LMEETY  Saocs ) gueT 1901 \SRésg | pd007
N | )earER 15380 abeax LIS 1T LO9ET Dm0 LIS LR 1i4k
70 | LSRN 1T 184N LEROLT  L3%M] LARAON  poses 1 1787 Leizew
T | Lod00  LOdHS  1esy FREL LT LMTLD LRSS 1U89R1 187190 197%e0
2 ] LP7i0R 19T 141588 197824 10Towd LA 1083k 108378 I.MEIT  10haE0
T2 asem?  romom  fteon LOSLMG LAl LEMTD  1benos LT LaRrT  pogiis
T4 | 20016 2oimsa  fooag POOEEE  LOMSET  DO00EE]  foepee TS PO S ATERT
TA | 00400 RZO1EM  RAITET TO0I450  2OFORFY  IOPIM Rogasy LRI oSSl 2owepy
A | kosmil  sozees  mampyR Gt EORE40  ROMTI  2odd01 TOETEY  SARME  3oatgT
T | 0409  2.045%s 04l ZodBt] 2.0dddn L5418 T0cEM LOSOYT HDOLE  2.8%E4
A L0012 T0ME  Rivam TAETE EM3Rd  ROMEE  Ra4rTE ROEI0N PR 2 0BEGO
Te | oS Foukia TR FOTOAE 078 RoTet?  roTaia LOTESY 20%84  L0TRIS
B0 | 207034 2ivbeg TORIEE  EDNNIE  poEaad EOREAT  Rontel LOBEIE  ZANR39  Tosned
81 | DM Soewi0 TOMIRE  EaDsEd BOMITE Lo 2O09SI4  L.i00G) E10183  £.iMge)
B2 1 BI0M13  LA0AME & Jomst L1670 TitMe  LaloEl  falieg LLEMEE  RriEgd L0188
B3 [ 21686 L11NE DuIME gy IME LlRnte  LIEMN6 TaRME 21040 Li2hEE  £13704
04 | 23008 233042 Raow) TIX80  RIENM ST Riagm LMK 233Th 3.8
BE | RI4DOT  BASIRE Raave TLIANF ST L14E82  2adTID THET LR 1D
45 | LIGITE RSB  Rasa0w RABERE 235640 LASTES EINETL 2 1apw? BA&I0Z 218817
07 | 2O 2364647 FiddEE  %aewty RISIRN 28008 LiTode  2aTimd ST 31TRNL
BE N LINIF  LITEMD  RTI08  myTRIE LI LT LINISE  R18ey BIATS0 PB4
5 | £38EM  BANTIT  ZIEENO JAMME LI ZaMEE  DipaT LIDMS 210800 210811
B0 [ LAMIEE  Livemd  Sasauy PRM0SE 280188  13OCTE g mgyT LYHE oMo g0
Tl | AMEFT 280037 Smingt S2118T  pEIfM  R¥1ITE B gpaes LM ERITOR  2mimg
B8 [ A2IR0  LEMEU E3YIMY parue TEEM  rMies3  Z3NTO  powe TEIE  puEny
P3| L2300l £25109  REm Z2I304  SE31  EEARA 2 omesn LB 323ER voRodd
B 220N LBOUIT RRaEM Taidmp BRI EREADT 12T BeumIa TE4PIN  RRsond
BE [ EESIZD ZEARES  NJEEN)  BoSidd LEMAML  ENNEE  EEETEG  rasam TaEMA  2mmOrs
B4 | ZI6ETE  TEAON0 MmNy SR TEEME  Lroe  2aeToe EEO008  2ivons  gutipg
BT | 4788 R3TIIY  2TaIR EpTENY ENTEEL  SETIET  Ritm@e IITEMR  2odoma 2 Ea1pe
DN | P3N CONMT  LTR4T LoNeu SIMME  LETIT  PMABED RS0 50082 2L
W] 23020  S20%N  ENMER  Doveas SENET  ZISTHY  LIMNS PI0BEE 33006k LEIER

2-4-H




3

ATT/PART - A

U WA # R R e i
¥ o fr oy oY e A ¥ oww &
T §1 TR AR IR OF ¥ # Iy
wh gk ¥ i e i wow @ ol
50 g8 ¥ o gAwR AR e e
#ﬁ*&mmmmmh

l. Z:d Z. 1
3w 5132 4, .14

A mineral contains a cubic and a spherical
cavity. The length of the side of the cube {5
the same as the diameter of the sphere. If the
cubic cavity is half filted with a Yiquid and
the spherical cavity is completely filled with
liquid, what is the approximate ratic of the
volume of {iquid in the cubic cavity (o that in
the spherical cavity?

Lo 2,
3. 12 4.

6 AT it & @ s B Ay v &
Torr o B MR /MY & R s oamer B
ai 6° ed ey w9 & 3o o9 Ae

134
1:4

&t o B #r s 3
1. 2. 0.
3. 4 1/6.

Out of 6 unbissed coins, 5 are tossed
independently end they all residt in heads. If
the 6 is now independently tossed, the
probability of petting head is

L. 1. 2. 0

3. 14 4. 174,

FR # e T3 F0 2F wear &

AQ| @]

6] '1G

3

S

3. What could the fourth figute in the sequence

be?

©

o

48 AR cfr e Hrg 30 & o sAd

Iy w Qo vy el (rsysa) |
ol B ¥Eg A B o # S s Wl B,
A 2 W FAAR T AW T

Y 2. 33

3. 3% 4, 37

The average age of A, B and C, whose ages
are integers x, y and 2 respectively (x < y <
2}, 15 30. I the age of B is exactly 5 morc
thar that of 4, what is the minimum possible
valug of 27
| I

2. 33
3. 35 4

. 37

fedfdemen & Rom & ot Rty
F gforte Rreor oy & Rew omar
*R-RE A SRR F AT amest e
freror g v & I o Tt e
@3 A @ wew b e B owa
facaidt & =RwotRr @ TS
w3l &1 afna v i



Asiro-
physlcs

Thuantum
Mechanic

Opties

1. io
3 02

4

2

L]

. Parcentage-wise distribution of all science
students in 2 university is given in the pie-
dizgram. The bar chant shows the
distribution of physics students in different
sub-arens, where a student takes one and only
ane sub-grea. What percentage of the total
seicnce students s girls studying quantum
mechanics?

Phrysics

2-A-H

14

R gu fax % wie wepiet # T dua
= §

vy

I. 29 2. 024
322 4. 14

What is the total number of paraliclograms in
the given diagram?

. 27 2, 2
3. 22 4. 14

WTEF # TF 4ET & e ot (A, B od ¢
& gy oftoet @ R Rr 3 x, v @
Z FANT U Al ®7 wided s aefrr
t #la.w g7 Fa e '

vz [ga s | X Y TZ]
AagrEr | Wit

(A 200,000 | 60 30 30 |4

B 250,000 | 76 4 |30 (36

B 300000 | 80 36 [40 |30

LY

2 0%

3z

4. X' Y X st gb

Election results of a city, which conizins 3
segments (A, B and C) are given in the
Tabie. Percentage wvotes obtained by parties
X, ¥ and Z are also shown. Which party
won the election? '

Segment | Total % of | XY |2
YVoters voting
200000 | 50 3G | 30 | 40

A
B 2,50000 170 40|30 | 30
C 3,00,000 | 80 30| 40 [ 30

Y
X
Z

-h-h.‘l_!\.'ll-l-

It was a tie befwean X and ¥
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1. 3z 2 36
3. 64 4, 7.2

The disgram shows the dimensions (in em)
of & zircon crystal having a sqeare prism and
two identical square pyramids. What Is the
volume of this crystal (jn cm’)?

ﬁ.Br
1
1
3
k| 3
i
i
G.SI
. 32 2 36
L 64 4. 7.2

T a9 v 3fd ¥ v 7 = zafy =%
vﬁ#aﬁgﬁﬂmﬁiﬁrmmh
A T TFTHT W o7 T vew B O

A & R w6 @y

1. 2 v+ ¥
L w42V 4, v+ 4¥

A boy throws a ball with 2 speed v 2t &
vehicle that is approaching him with a speed
V. After bouncing from the vehicle, the ball
hits the boy with a speed

. w 2. vdl

L ov42¥ 4. v+4¥

10. o iy o dram s & 9z o 9 wEia

10.

.

fady firmar & 37 % wed W By W Ao
FUF AR g e wg, e
§ 2 = aE oo R s @ S e
e ¥ 4@, FEeow @ vw ad
%lmwwmmﬁmﬂfﬁm?
1 g z. EEdar

3. aFET 4, FEEE

Four friends were sharing a pizza, They
decided that the oldest friend will pet an
extra piece of pizza. Bahu is iwe months
older than Kauappa, who in tum it thiee
menths vounger than Bhalla, Devsena is one
monih ofder than Kattappa. Who sheuld pet
the extra piece of pizza?

|, Bahu 2. Devscna

3. Bhalla 4, Kattappa

HIUTY HIT 4 & IR 97 & v 419
AT WTH A P und & d@v ay aefn
™ Bl RAER, AT & oW o ww zen
WA B R A F s EE oo Fw v oI
?Eﬂﬁmﬂﬂ'{mﬁaﬁﬁﬁx{ﬁ
{x< @) 7 @197 AT ¥ a9 i o qeh

A funnel is connected to a cylindrical vessesi
of cross sectional area A as shown, to make
an intercennected systom of vessels. Water
is poured in the cyfinder such that the height
of water in the funnel is J as shown. [f the
level of water in the cylindrical vessel is
pushed down by a distance x< /, the level of
water in the funne|;
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12,
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13.

13.

. remains unchanged
B AT
2 rises by e
. xi¥
3. rises by 7
H
4. rizes by %Fx

| gt K 3 (30 3% 8 W) o ofer &
415,675 T S EIOR W a0 4
w Ao €, aur » o ST Aw B OEW
THE A AT U SR S
WAL O wEfE e s W g

i, 25 2. 26
3. 27 4, 20

Marks (oot of 30) of seven students in an
examination are 4, 15, 6, 7, 5, g and b, where
a {>0) is a multiple of 4 and & is a prime.
What is the maximum possible value of the
difference  between the maximwum and
minimuwm marks?

i. 25 22

i 4, 29

a‘rﬁwﬁﬁﬁaﬂrﬂwhq#ﬁtﬁra
Bt A 9w Ry wA E oAty
BR g Bl B TR L kwn B AR 2k
T & TN A ANE A B mw
W O FA F, A A SROF feg @

TRt ofr 0T b & ek farorar A7
1. 2km 2. 4km
3. akm 4. Bkm

Two persons A and B stant walking in
oppaosite directions from a point. A travels
twice 25 fast as B. The speed at which B
travels is 1 km/. i A travels 2 km and turns
back and starts walking towards B, at what
distance from the starting point will A cross
B?

1. 2km
3. 6Gkm

2. 4km
4. 8km

12

4. TF 23T @7 § AT ¥ wERET w6

14

15,

15

60 kn/h AT X A WA wEar B
WA R B g 2 km R
Weafer W & T & A R
e & S T 30 keoh F M TR @
AW HE| T oaw F o Bew afy @
T B 60 kv N Ame oy & oasw A
T

L foselt of sl ofy & mer oY

ST AP T
1 tmh
3. %kmt
4. 120 kmh
A pereon wanted to travel from Charbag to
Alambag with an average speed of 8¢ kmv/h
by car. The distance berween Charbag and
Alambag is 2 km. Due to heavy traffic, he
could travel et 30 kmvh for the first kilometre
of his journey, What should his speed ba for
the remaining journey to achieve his average
s target of 60 knmvh?
1. Cannot achieve his target with any finite
speed,
2. 60 kmh
3 90 kmh
4. 120 km

TR T 9T A9 2003 # 2005 €y 3 af &£
il & five tog af 65 om o) T
2002 & 2004 & ofer Fdf & sty =Wt 63 om
ol g 2005 Fr AEIIRF awt 60 om W T

2002 #ﬁmrrm?gé‘r
l. 55¢em 2. 6)cm
3. 5Mom 4, 53icm

The average rainfall over a given place
during the three-year period of 2003-2005
was 65 em. During the theee-year perind
2002-2004 the average rainfall was 63 om.
The actual rainfall during 2005 was 60 cm.
What was the rainfali in 20027

1. 55¢m 2. 60cm

3. S4¢m 4. 53om
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16,
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18.

TaR wR fe # ew R ot 4 @
Ve A Hearwer 4w Rome 3 o 4
A4 g ¥ FEw AR @ e
IgnT ur 9ig A A D PN B F I e
el Y & FfE g B AEe: qww
F1 ARG Sz o PR CR A D F I
el w1 F B A TR @ e
FEHT 4Tl QUAAT HEw-wEA F F e

Aoaa # famsr v e
[ -1 2. Mo
3. gaB 4, ERC

In a four consecutive day schednle, four
pilots flew flights each on a different day.
Mr, A was scheduled te work on Monday,
but he traded with Mse. B who was originally
scheduled to work on Wednesday, Ms. C
traded with Mr. D, who was originally
scheduled to work on Thursday, Afer il the
gwitching was done, whe worked on

Tuesday?
. Mr A 2 MrD
3 Mz B 4, Ms. C

W WE {6 W) W 40 T e &
Irpisy A g ST an Reem Wi

Hiwhaa o e
1, 8 2. 60
3. 40 4. 20

Atter § g of carbon is completely bumt in an
ammosphere of 40 g of oxygen, the parcentage

oxygen left is:

1. & 2. 60

3. 40 4, 20

fewlt Fry T & g0 % i aw v

B { w47 F pie 4w A
priRa T fae & T o oo
R GHATE BT & oW fTEa W R

3y &

13

15.

9.

19.

20.

2Q.

x x
i l—m 2 5

T ET
3, I—E 4.1-““2—

What fraction of the equilateral triangle
shown below with three identical sectors of a
circle is shaded?

T, TRY, T, A S WA & HET
oo wER #r feash wftwwt = Sr

e #7
1. 16 2, 128
3. 31 4, 32

How many different vegetables can be made
from cautiflower, tomatoes, onions, potatoes
and carrots?
1. L&
3. 3

W 5 i dAw @A 6 o A W gt gt
W =T # 10 S g gy yrl
20 #ey #1 T W = wiw W s

3. 18
4 32

R e T g ey
l. 20s 2. 40s
i l4s 4. 806s

A bottie of perfume is opened and & person at
1 distance of 10 m gets the smeil after 10
seconds. ‘The time taken for a person 20 m
away to pet the smell is about

1. 20s 1. 403

1, 14 4, B0s
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22,
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23,
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2. Emmﬂ‘rna?ﬁﬁﬁwﬂ
I

3. TEW W uwe 9@ Pl %y
AT Y FT BT AnT

4. THW @ Ut wefe g Qa9
T w4 #)

The Moon’s surface receives cosmic

rays and solar wind everywhere unlike

the Earth’s surface. This is because the

I. Moon is closer to the Sun

4. Moon lies at the centre of the
galaxy

3. Moon’s gravity it one-sixth of that
of the Earth

4. Moon does not have a significant
magnetic fald

T8T I TRew &9 ¥

If g and F are the Earth’s normal gravity
and megnetic fields respectively, then
along a geographic latinde

. both g and F remain constant

& remains constant, but F varies

3. Fremains canstant, but £ varies

4. both gand Fvary

'-F]?:f&ﬂ?fﬁ'asﬂ fagia *’ft?gaw
1. Wt udd @ gwer #)
2. #EEdr ofd &1 gmwr ¢
3. e FqOr A Y HE
R w3y 2
4. EAEH 1 gwmEt #

Bl e

14

13

24,

4,

25,

25

26,

26.

“Plate” as in the theory of *Piate
Tegtonics’ is 5 .

1. fragment of the ocennic crust

2. fragment of the continental crust
3. part oceanic & part contineneal
Crust

fragment of the lithosphere

%mﬁmﬁm@mﬁ#
W v waw e gEq Rty
w1 geyfa 37

U — Wfaaksfs

~ aftafea
. B - wral e
. wigR - frwfas

Which one of the following boundaries
represents the most devastating mass
extinction in geological history?

. Cretaccous — Palengene

2. Ordovician — Silurian

3. Devonian - Carboniferous

4. Permian — Triassic

T R R owme gy et a)
WA ey ogd ¢ A w
by

22 framw ot =9 Y

21 5 B Ty T

21 97 w5 % dar

22 fawaw ot grdfers oiddr

At which of the foliowing places would

one see the Sun directly overhead at

iocal noon?

L. The Tropic of Cancer on 22
December

2. The Tropic of Capricorn on 21 June

3. The Tropic of Cancer on 21 June

4. The Arctic circle on 22 Decernber

m#hmﬁaa}ﬂvﬂv—zﬂ?ﬁ

-

W

Pl O

W B Hewar 27

1. whadtedy 2z W
3. Aifads 4. TR
Which of the following minerais is
likely to be altered to serpentine?
). Plagicclase 2. Gamet
3. Olivine 4. Guarz
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27,

28,

28.

‘The

15

'mﬁm#w 29,

Which one of the following fabrics is e
characteristic frature at the cenire of a
large pluton?

1. Randomly oriented & 29,

Interpenetrating large grains

2. Preferred orientation of
phyllosilicates

3. Phenccrysts embedded in a fine
grained ground mass

4. Atternate bands of mafic and feisic
minerals

dwelfad wfirloy dvade @
SANRE agsl B qe-vaie

@ Ty wwabr fFar sem 2) 30.

e ™ vef wy offeat &
firams %9

TR
1k B[ Eid
i) =T

A Mg i)
B. Ba ii)
€ " Cd

A-i; B-ii; C-iii
A-iif; Beit: Coi
Ay Bedii; C-i
A-ii; B-i; C-ii

ot N

trace metals of planktogic
foraminiferal caicite are used as
palecenvironmental proxies. Match

the following elements and the proxies.

A Mg i} phosphate
B. Ba i}  temperature
C. Cd iii}  alkalinity

1. A-i; B-ii; CHil
2. A-iiiy B-ii; C-i

30.

- 3 A BHidi; C

4. A-it; B-i; C-iii

gﬂgﬁﬁaﬂnﬁrf—ﬂﬁﬁ?
I

t. AT TRTET o 9T @ sRe
o g

2 Al e W owe @
mlgedfe Vg

3 T 7h, e
Arefra i 8T

4. T st 2 off voy 1 A
vy TR

The velocity of a tsunami wave is

dependent on

1. the focal depih and epicentre
distance from the shore

2. the focal depsh, but not the
epicentre distarice from the shore

3. the epicentre distance from the
shore, bat not the focal depth

4, neither the epicentre distance nor
the focal depth

gﬁ@ﬁa‘aﬁﬂmﬁfﬁ.ﬁm

1. EFTEHS B1OT U SO @
T2

2. HHTOTE B @A AT9RIT @ W
"Em

3. WS BT YA s @
T AF AT

4. WG GBI U ATINTT &
Y BT

For a paramagnetic material,

susceptibility is:

1. positive and increases with
lemperature

2. positive and decreases with
temperatute

3. negative and increases with
temperaturs

4. negative and decreases with
temperature
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32.

32,

Assuming that two atoms of a radio-

aclive isotope with a half-life of 2

hours can be isolated, which of the

following statements Is CORRECTY

1. Only one of these stoms witl
remain after | hour

2, Both these atoms would definiteiy
decay into their daughter isotopes
izt 2 hours

3. Haif of each of chese atoms would
decay in | hour

4. The decay of both these atoms
connot be predicted precisely

f e s ¥ w ABCD
wl = AB'C'D' wwre agya ¥
fargaor Y frermm mor #)

0 ¢

] | I

AB 3 wu gwew fagfy et
LiLiifs

1. 05 2. 10

3 15 4. 2.0

The following schematic figures show
deformation of 2 square A B C D into 2
parallelogram A'B'C'D',

15

33.

33.

34.

34,

e ! (hil
. A Y

What is the shear strain along AB?
1. 0.5 2. 1.0
4 290

Keeping the grain size constant, which

one of the following represents the

CORRECT sequence of develapment of

bed forms with increasing Aow velogity?

1. Ripples = Antidunes —» Flutes -»
Dunes

2. Ripples — Dunes -» Antidunes —»

Flutes

Dunes -+ Antidunes —» Ripples —

Flutes

Dunes — Ripples — Antidunes —

Flutes

o]
v

1t

e

#9 = qw fRmew wda

wrear 47
e

Hlee
Bl
Wwed Sle

4
&

7313
ii

|

Which onc of the following fauhs
DOES NOT gut the Himatayan
mountain ¢chain?

. Main Central Thrust

2, Mzin Boundary Fault

3. Great Boundary Faul

4. Himalayan Frontal Fault
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35,
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37,
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%0 Surarell fwwles 24 & W

Bt 7o fieles @ @ U

W — | Haft 2

1. foeples warEl 8 we o
UE L A A

2 T MR W wd fwploe
e ¥ gl @ d
wrAr

3. Reples swarEl & w=iw @
wuft ol ¥ gy § wmw W
BT

4. faweler SEMEl € owa &
7g1 f¥war

Some volcanoes are explosive whereas

others are not. One of the reasons is

related to

. the larger heat content in the source
of explosive voleanoes

2. the larger conbent of volatites in the
reelt producing explosive volcanoss

3. the presence of network of favlts in
the crust overlying the source of
cxplosive voleanoes

4. the larger depth of the source of

explosive volcanoces

W T g & faR w9 o
i #7

1. FEfaT wfvay w1 smEd

2. @wEfYe wivat &0 gty

3. RyefidT wiral s1 suey

4. FIgEEAy CO, BT o

What is the major source of alkalitity in
the river water?

weathering of carbonate minerals
precipitation of carbonate mincrals
weathering of silicate minerals
dissolution of atmospheric CO,

¥ q 39 s = 3 gt W@
e & wn?

1. Y I smwar

2 #% ag-Foar ag

3. qIg %t

4. gt 2 &

Ry

827 CISRAB-2AH—2A
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3.

3s.

38.

35,

s,

4ik.

Which one of the {oliowing DOES NOT
favour the formation of yardangs?

{. Severe arid conditions .

2. Strong multi-directional winds

3. Paucity of sand

4. Dearth of vegetation

afy #2 I a¢ amrwem — @

Hifera glar #

. yfe ufadt Aat

2. Ffuwaw sy o vt

1 gt e S ae = @
g Fdsf #

4. &0 ufim) | <t gz Tar @
o agled @

The widest shore platforms are generally

aszociated with

}. highly resistant rocks

2. steeply dipping rocks

3. least resistant rocks striking parallel
to the shoreline

4. least resistant rocks striking
perpendicular to the shoreline

WERME  wt gan d desr waw
WaTge —
1. S A ¥
2. B HY T won #
3. P FoET g9 A @
4. T wod &

Compared to pyrite, palena and
sphalerite are

l. both denser

2. denser and lighter, respectively
3. lighter and denser, respectively
4. both lighter

T ¥ 9w el W oanfee
it # fyam & o Profas sro
T4 |7

1. UV fisvof 9§ a9 w89 #1

ey
2. FfEaa &1 Sqe=ar
3. 9t ¥t Iua=ar
4. Uy & fad el 8 wva=ma
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40,

41,

41.

43,

42.

Which one of the following was NOT a

crucial factor in the development of

garly life on the Earth?

1. Availability of protective shield
from UV rays

2. Availability of oxygen

3. Availability of water

4.  Availability of energy for
metabolism

What is the age of the Sun?

t. Twice the age of the Earth

2. Same as the age of the Earth

3. Same as the age of the Universe

4. Same as the age of the Milky Way
galaxy

T & B ™ weuw ol oY F

geft ¥ aew Yo S @ uRedw @t

fafaa @=er 87

1. e owAr & @ma # ey
fgrar @ el wre F wewar 2

2. Praay smr @ awd) ste =
¥ qga #

3. fr=aw grae va aiedt wre ot
o gear €

4 P oy ¥ gem 3, uwg
forerar 4 aredt wtes g 2

Which one of the following statements
correctty depicts the variation of the
gra'.rlty field inside the Farth?
. Increases in the lower mantle, but
decreases sharply in the outer core
2. I[ncreases in the lower mantle as well
a3 in the outer core
3. Dwecreases in the lower mantle as
well &5 in the outer core
4. Decreases in the lower mantie, but
increases shamply in the outer core

43.

43.

44,

44,

?ﬁﬁ*ﬂmwwﬁwﬁ?

Fﬂgﬂ'%m—a’ia'w
—7

1 gﬁmquﬂﬁiﬁﬁ:ﬂ

tdy W‘E{ﬁ?ﬁ‘{!ﬂ e W

6 guwh &
3. W U, TE Tl @ S |
e 2

4 I YW, 9 e B S oA
T NI 2

Which ore of the following is

CORRECT?

The plumk line used by & mason gets

oriented perpendicular to the....

1. spheroidal surface and passes
through the Earth’s centre

2. spheroidal surface, but does not pass
though the Earth’s centre

3. gecidal serface, and passes through -
the Earth’s centre

4, geoidal surface, but does not pass
through the Earth's centre

T ¥ w5 ve Sursfedell wemg

w87

#AGY SwiEleddg Fftewe d=
(ITCZ) v &= 2 ot

t. 9o wfedda qdf e wdber
sfedy ufig®t gard fuad
2. gu wfeddry oyelh ya gt
wfeada ydt et T &

3. 4 wrard #t 9w siegdg O
e &

4 %A et @ 9w e
afrett ward Fredt

Which cne of the following is

CORRECT in the tropical Pacific?

Inter Tropical Convergence Zone

[ITCZ] is a region where
. tropical easterlies and sobtropicai
westerlies meet

2. tropical westerlies and subtropicat
easteriies meet

3. tropical easterlies of both
hemispheres mest

4. tropical westerlies of both
hemispheres meet

8127 CISR/B8-2AH—2B
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45.

435,

46.

47

47.

19

Oceans in the suhtmpical region are

characterized by

1. high evaporation and high
precipitation

2. low evaporation and Jow
precipitation

3. high evaporation but low
precipitation

4. low evaporation and high
precipitation

1
2.
3. yolear afgy
¢. wfoRa aifkery

If the environmental lapse rate is less
than the moist adiabatic lapse rate, the
aimosphere is. .,

absolutely stable

neutrally stable

absolutely unstable
conditionally unstahle

bl B o

TH I WY YRy =91 9v 74 ———

I
t. flew 471 @
2, 15 WY 30 f&f & fry v w
:hﬂmmm’faimﬁ
3. WU YEnET # wweiae
4. OAGW YEmaEl @ W@ S gw

On &n upper-level weather chart, the
wind tends ta blow...

1. at constant speed

2. atan angle between 15 and 30
degrees to the contours towards
low pressure

parglie] te the isobars

at right angle to the isobars

e

48.

49,

49,

50.

81.

TI-YHHE  SATH-agarsT 0
e dar @ aGiE oy agwe
T —— HoHArET
e v
NER

ATETT

LER CE G

i R B

The Heat index {HI) is based on the
apparetit temperature which is a
combination of air temperature and
1. cloud cover

2. wind speed

3. relative hunndity

4. solar intensity

FRI AN AR a
e e ad 27

. ofedw [’CH4}

WHT 2§ IAFEYR (COy)
warel (Ha0)

diferaa (02)

Awwm o

Which ene of the following pases is
NOT a greenhouse gas?

I, Methane (CH,)

2. Carbon dioxide (CO2)

3. Water vapour {H;0)

4. Oxygen {0;)

udw # e

St gar B

B aftrEan gt # =4 uw
— e ——— dEy W

1. TURT, TS 2. i, wyeT
3. aUgl, T 4, T ¥

The maximum amount of latent heat is
released in a rising saturated parcel of
airwhenitis __ andata __ altitude.
L. cold, high 2. warm, high
3. cold, low 4. warm, low
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31,

52.

52.

53

53.

54.

Amplification of the upward propa-
gating internal atmospheric gravity
waves g dug to

conservation of motentum
conservaticn of cnergy
incompressibility of the atmosphere
decrease of grawtatmnal force with
height

Bl =

Tt w AqEEd & fEw e A
T IEEE WeET Bt wEa
wear 87

atvi=e (o awarricd
TAHSA U9 ATEaHSA
glqHed Ua TeAHEH
AHRIH e Ta9 Meded

il L

I the Earth's atmosphere, which
regions have the temperature profite
that supports  convection?

1. Troposphere and Stratosphere
2. Mesosphere and 'Thermosphere
3. Troposphere and Mesosphere

4. Stratosphere and Thermosphers

st

AT

watvn & #4¥fe o= g9 —

1. MY Ay afiegq a1 95 @

2. dfHT TR¥ANe $ aEdwvT ag
BT I99q &

a. TR Fffeaem aea g3 2

4. WgE SRRa gvean = 2

A seditnent core collected off Oman is

best suited for studying palecmonsoon

hecause that is the region ...

t. from where the monsoon moisture
transport originates

2. where descending arm of the
Walker circuiation originates

3. where intense oxygen minimum
zone is located

4. of monsoon induced upwelling

I WY H T WaviET a9 9fEreT §

20

54,

55.

35,

56,

36.

3. 99N ¥ v
4. zihor € A

In the Arabian Sea, pressure gradient
foree is from the South to the North.
Therefore, the geostrophic flow is

1. Eastward

2. Westward

3. Northward

4. Southward

e el & & otv @ & R
298 P frereis watsa 27

1. CO {&H4 7t afFrds)

2. N.O {(Arega sifwas) .

3. CH, (figf)

4. CO; (= wnf afeards )

For which one of the following gases is
the tenry's law constan the highest?
1. €O {Carbon rongxide}

2. N:O (Nitrous oxide)

3. CH, (Methane)

4. CO; (Carbon dioxide)

W waE 99 ¥ o ¥ #wh

acgaey gy dfta T B

1 pCO; &1 I (Scgavmd @
)

2. pCOy &1 "Hem (wugogd &
)

Hear

Which of the following will NOT he

caused in the surface seawater by

upwelling?

1. Increase of pCO; (relative to pre-
upweiling)

2. Decrease of pCQOx(relative to pre-
upwaelling}

3. Decrease of dissolved oxygen
(relative to pre-upwelling)

4, Increase of productivity {refative to
pre-upwelling)
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58,

59.

59,

6.

60,

g e 0 3 W feuer Pae

wHE WeY ®Y ghn?
1. rm 2, ATAIRSIRY
3. YA 4 i

Whick among the following has the
least residence time in seawater?

I. iranium 2. Molybdenum
3. Rhenium 4,  Thatium

HETRNTE wae® uTdl —— 9 ey
TEar 2

+. urg gifea Aarmde dage

2. u¥eg Bifdd Aerarnia wed
a gudt gefa wfae  sgrerrim

AT
4. 8w Hifew iy g4

(Oceanic convevor belt refers 1o

I. Wind —driven oeean circulation

2. Density —driven acean circulation

3. Earth's rotation — driven ocean
girculation

4. Friction — driven ocean circulation

dAerafes wasdf wawrr —— =
14

t. T ey afe washig

2. IvE; vaq e @Ay

3. W A &9 waely

4. Ul Q99 &H gy

Antarctic inlermediate water mass is
l. warm and highly saline

2. cold and highly saline

3. warm and less saiine

4. cold and less saline

wg o e savEd Wt
~—— @ g’ ¥ wower

1. WY WA 9

2. |TR ®AE ATEHR

3. U gdg XqUTdr
4, FARPIA Yuw dredr

In ocean remote sensing infrared
sensor gives information about

1. sea surface wind

2. sea surface temperature

3. sea surface salinity

4. chlorophy)l pigment concentration

21

6l.

61,

62,

62,

63,

64.

gur 9 Few? & Wiy w9
‘Tﬁiﬁﬂl Riftia pachypivia & fud

wevd —— W it g #
,?mmﬁﬁmﬁa
2. qergtfia
3. FAPEITH TATCHT
4. Pagordt

Nutritional needs of the tubeworm,
Riftia pachyptyla inkabiting the vicini-
ties of hydrothermal venis are met
through

chemo organotrophy

phagotrophy

chemolithotrophy

mixotrophy

R

In the middie stretches of most
estuaries, the highly likely community
of life forms is

hypohaline

meschaline

stenchaline

euryhatine

7R ¥ oW @ ofiv wE wwam
wwﬁﬁmﬁaﬂﬂmmﬂ
waTeT 2. whufisey
3.3“&?}1:3 4 BT

Which one of the following groups of
organisms CANNOT survive in the
aphotic depth?
. Bivalves 2.
). Echinoids 4.

T4 @ w9 w wore! aF it B
o Tt A Segty =38 ghar?

1. Hemrmrds aonsh

2. Fffeaes wrafe witer

3. ds—210 WO

4. "Rb-YSsr yerrelt

Bk —

Foraminiferans
Diatoms
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65.

65,

66.

66,

67.

67,

iz

Which one of the following methods is
not used for dating ice cores?

1. Radiocarbon method

2. Oxygen isctope stratigraphy

3. Lead-210 method

4. *Rb-FSr method

Afwd o @ s-eR 9ol §Y
ftat =1 o &9 & A-B-C-D-C-B-A
TEET HAE e e T 87

1. At &1 T g R

2. W&l F gus gar @

3. wp faw fearey w9 auferd
4. #a dfgea @

The following sequence of rocks is

observed while taking a traverse across

the strike direction in an area:
A-B-C-D-C-B-A

What is the most likely interpretasion?

1. The rocks are folded

2. The rocks are faulted

3. Presence of an unconformable

sequence
4, The rocks are jointed

T8 9 Frwd e v ddade
wrimaar Freme ol fad @

faf¥ver w1 argates wm?
1. AETHTR 2. WA
A, H&ETeid 4. ¥IEA

Over which of the following would a
satellite ohserve relatively lower
cuigaing long wave radiation?

1. Oceans 2. Forests

3. Deserts 4. Clouds

7 q—woef & 9 fisg v e
frreTan o9 arasaes =T gh?
1. Wira

2. FAfte ¥R EXIE

3. ey
4. TR % AT

Which ane of the following land
surfaces has the minimum water
infiltration rate?

1. Forest

2. Heavily grazed pasture

68.

69,

69,

70,

0.

3. Cuitivated land
4, Crassland

feve weraPR 99 F yOiys T4
R —— @ w9 Bhar 2

1. Ay — e
2. f:;lﬂff—fﬁﬂ
3_ e

Y m’ﬂﬁ—ﬁmﬂ

Coral bleaching in the Indian Ocean
region is intensive doring

1. November ~ December

2. lanuary — Febraary

3. May— June

4. February — March

fat v # 9§ wva @ aw wanft w
N uEE foawesr ey g awl
W= AT ® o uE et @

1. TR — ufl

2. il - =i

3. WY

4. TR — qdf

identify from the following, the
homogenous region in Indis, the
summet reonsoon tainfall of which is
poorly correizted with that of all other
FEgions.

. North-west

2. West-central

3. Peninsula

4, Morth-east

T ¥ 5 &1 oitvied ¥ ywm
fgtest = ehwr wig @ wwaw
WEd 0% Ygd orar 37

1. TICRIETES

A LI

3. MIEd ARRIES
4. ARfcs FAars

Which one of the fellowing does not
undergo photo-dissocigtion in the tropo-
sphere but rises to the stratosphere?

1. Formaldehyde

2. Water vapout

3. Nitrous oxide

4. Nitric oxide
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L.

7.

1L

7.

73.

HET/PART - C

W W FTF W UE e A
# 9| 8 M MpO W 10 aR”%
FeO #| a0 @& Mg# war 2?7 wr
dford MgQ waq FeQ % = #Am:

40 Y9 72 §1
1. ~3 2. ~59
3 72 4. -4

A basaltic flow at ¢ mid oceanic ridpge

+has 8 wit% MgO and 10 wit% FeQ.

What is the Mg# of the rock? Assume
molecular weights of MgO and FeQ to
be 40 and 72, respactively.
1. <34 2.
I ~72 4,

AR @ @ w fad om
AT T Wi g3 T e #

SiyeoFessoMge.20C
SR S AR
s wgTy ware qutm &2
(En: veerds; Fs: Bifirade;
Wo : gtehwelqrde)
1. EnizpFsagWosgg
2. EnyoFsgWos,
3. EngFs;Wos,
4, EH4QF55{]W01{|

~3%
~&4

Formula for a mineral calculated on 6-

Onygen basis is given below
Si>00Fe§§oM go20C10

Which of the following end member

compositions represents this mineral?

(En:  Enstatite; Fs: Ferrosilite; Wo:

Wollastonite)

1. EHEOFSRQWGSEI

2. EﬂinF-’S'qruWﬂsu

3. EngoFspWac,

4, EnggFsggWoyy

39 WE dag fam A dwwa— @ wy
afagas e 21 i aofew
Frarm wirfia & waw g #fm
WHET ® WA TR {Y ¢ wEHd
ar wftdt g gw 3 e s
FW gU wE gaoeE @) gewry

23

71

120

N Top of range
# Bottom of range

g

40

Section 2 {meters sbove base)

124

]

a5y 8a
Section 1 {meters above base)

1. i FawrE g3 oo g9
—2 B ag & o9 8 T
2, ¥ 7 ¥R T ¥ @
AFAT—1 B &q § oW 2 T
a. AT ¥ o wiwra @
4. BFga—2 ¥ U% Wiaad &

In this graphic correlation, section-1
has the maximum thickness. Using the
first and last appearance of all fossil
species present, a line of correlation
has been drawn. Using this graph,
_identify the correct statement.

126G

N Top of range
@ Bottom of range

&0

40

Section I {meters ghove base]

1)

]

40 &0 120
Sectlon 1 (meters above base)

1. Sedimentation rate was initially
high and slowed down at the end in
section-2

2, Sedimertation rate was initially

low and increased at the end in

section-1 :

There is a hiatus in section-|

4. There is a hiatus it seclion-2

Lk
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24

— -

5

-y GR i B

B.|GS»AMGR  [E.;

. [PPBSEC

e (1S, = fre; EAM, wiiele
Tretalerde; AM, vmlaniz; GR,
1w, PP, fRe-vare, BS,
wqfiree; EC, gaaimrae
1. A-E-R, B-F-Q C-D-P
2. A-D-P, B-F-Q, C-E-R
3. A-F-R, B-E~), C-D-P
4. A-E-R, B-E-P, C-D-P

Which one of the following
combination of metamarphic  facies,
metamorphic  facies  series  and
idealized teclonics settings of a
metamorphic terrain is correct?

mmrﬁn

A GEBEAM-—»A

B8 >AM—GR [E. [Medi

MR

. PP A5 EC

: ,

Abbreviations: GS, Greenschist; EAM,
Epidote Amphibolite; AM, Amphi-
balite; GR, Granulite; PP, Prehnite-
Pumpellyite; BS, Blueschist; EC,
Eclogite

1, A-E-R, B-F-0Q), C-.P

2. A-D-F, B-F-(}, C-E-R

1. A-F-R, B-E-}, C-D-P

4. A-E-R, B-E-B, C-D-P

o —
G5-EAM-yAM DT BT P gt simves]

75,

i

76,

Which ene of the following represents a

suitable condition for the formation of

lowstand wedge?

1. Deposition during sea level
lowstand and early rise

2. Early failing stage system tract

3. Deposition during sea level
lowstand

4. Late falling stage system tract

PMankik raminderal voze
dombnaied by Sebarciaia
O menords groun and Senioting

Plasktle kramintiorsl oon domingted

WY
4. uirem ¥ qof v fodw awiv &
£iji)
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76.

77,

25

Mpnkth: Koraminiaraf ooze

<
%){:j dominated by Globora e

memared group and Pulienioting
) . Mankii foraminferal oore domingted
o by Slobarntaiie fruncorotofo grous
E’ w0 " | and Globorotaliy Inflate
£ / Plariktic Foramintfer Soze

/ demdnated by Glolroransdn o

i Deeanic Flate [

The above figure shows pelagic

sediments deposited over an oceanic

plate at a particular site. Which of the

following interpretations is the correct

explanation for the sequence?

During the Cenozoic, an oceanic plate

in the pelagic realm  successively

moves from

l. cool subtropical w equararial
latitudes.

2. tropical to cool subtropical
{atitudes.

3. pastta west along a particular
latitude.

4, west to east along a particular
latitude.

ot
m
2

T

78.

T9.

Which one of the following pairs of
points represents principal planes of

stress ellipse  in the above figure?
1. Aand B 2, CandD
3. Eand F 4 {GandH
2 0y 2 @ 2 o5 g8 WRWE &, 4
Lisd ﬁﬂ # # whm e aAw wr

TH—HhE Ay ueia e 27
1. sz 2a>0

2. G‘l%tﬂ, d‘x-'.tf.}, ﬂ3=ﬂ
3. ﬂ'lqtu.ﬂ'z=ﬂ,ﬂ‘3=ﬂ

& 0y =0; =03 2D

If ay20,20; arc the principal
stresses, then which one of the
following represents a uniaxial state of
stress?

. v zoa 200

2. oyl o +0, ;=10

L o #0,g=0.03=0
4

.y =027 T #f

s A, B waq C 368 ufted
HT::I? d‘l.d'zmd3ﬂ}‘?fl7lﬁﬁﬁ
feamraf = fammw 2)

ki) =) =]
.qla .Ga .GI
A B c
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79.

&1,

T A S W A, B, C § sfve

faanat & wer dw @ agfr o7 ot

e ¥7

1. A - W d9, B - afyaa-ador
7w C—#y g%

2. A -7 fyas—wdm du, B - 9Ty
49, C— 87 fn

3. A - gu fo B - afiis—adw
¥% C—app 99

4. A - Afodg—ady dw. B - &y
I, C—WmEra 1y

Stereograms A, B & C show three
different orientations of the principal
stresses, ay, ¢, and g3

'l:l' l'FJ [

A B C
Which one of the following is the
correct match of stress oriemtations in A,
B, C with the nature of faulting?

I. A -Normal faulting, B — Strike-
slip faulting, C — Thrust faulting

2. A - Strike-slip fauiting, B —
Normal faulting, C — Thrust
fauiting

3. A -Thrust faulting, B — Strike-siip
faulting, C — Normal faulting

4. A —Sirike-slip faulting, B — Thrust
faulting, C — Normal faulting

adt saue goeds (BSR) @
arym —— Y wra & G w2
1. 9 & 2 o it

3. e e, £ o R

Bottom Simulating Retlectors (BSR}
are investigated for the exploration of
1. Heavy oil 2. Shaie gas
3. Qil sand 4. Gas hydrate

A w1 A A ddE ¥ & 99
Tes TH H1 wheq fewr 747 3=
<t B fay wE ante da
P (S,) aOrad #4992 (P
& g fasr=t *ary |

i6

81.

82

B2

1. 90 §, ga & (P - e S

a e (%
2 MRS, 7wy (P)- 9w 5, —
9 &R (P)
3. 9™ 5, Ry (P - fimg 8§, o=
£ (P)

5. P S, we HA (P - P s,
&9 @8 (P)

Two ol production wells were drifled

in Bombay High and Cambay Rasin.

Choose the correet combinations of

initial oil saturation {5,) and produc-

tion decline rate (P) for these two wells

respectively:

1. High 8., rapid decline (P) — Low
S, rapid decline (P)

2. Low 8, slow decline (P) — High
Se. rapid decline (P)

3. High S, Steady (P) — Low S,
Low decline (M

4. Low 8, Low deciine {I*) — Low
8o, rapid decline ()

Reg dan & gafe el & =
m fdeer T Sem/16° o way
120cm/10° of e Sard (F)
v gifem frda g (LGM) @
v A o owrE gie ge
FOT 7
1. frde wfvm - H § wew qay
LGM # o
2 Wqw WITHIA
LGM o frr
1 Wfad gamew c H o fre qam
LGM # u=
4. ghufts wx a9 : H § o=
aq LGM o Ry

H § 9= ya%

Measured sedimentation rates in dritled
cores in the Indus fan are Sem/19° yrs
and 120cm/10° years during  the
Holocene {H) and Last Glacial
Maximum (LGM), respectively. The
taost plausible cause is:

l. Tectonic activity: high in H and

low in LGM

~ 2. Ocean temperature: high in H and

fow in LGM
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83,

). RBiological productivity: iow in H
and high in LGM

4. Eustatic sea level: high in H and
low in LGM

werT 4 ® oW A pH ~8
T ® 2w & die Taed

%
2

1

7

3. HCO;, HyCOq
4. H,00, €052

pH of water in the Bahama Bay is -8
while that in 2 peat bog in the Ganges
Delta is 4. The carbonate (ionic)
species that would be stable in these
two environinents, tespectively, are:-

1. €073 HCO; '

2. HCO5.CO5*

3. HCOy, H,€04

4, H,00,,007

i wraraee fivar wdo) + derEe

=HTEIE1=IT§E+C(}2$FH#WQEI

B qored wdr T B9

1. frfl g wm W ardwebnde
Fwr Peim-amws C0. @ me
Favr § wlmpow v Brefy g

-ﬁ?ﬁﬁmcnzmmﬁ
vEeHA AT 8§
m

.Eﬂﬂﬁﬁﬁﬁﬂﬂﬁ’iﬁ
wEA B |

For a metamorphic reaction Quartz +

Calcite = Wollastoriie + CQ., which of

the fellowing statemsents is NOT trug?

1. At any given pressure, temperature
of formation of Wollastonite
deperds on the activity of CQ; in
the fluid phase

27

85,

= 9 s ogm A,

With lower activity of CO;, the
reaction can take placc at a lower
tempetature

The maximum stability of Quartz +
Caleite ig when CO; 15 almost nil in
the finid phase

There could be a wide range of
pressure and temperature for this
reaction,

B, C #

Faeena B e He E7

0o wo

i .

CaC0; & dgous 4 = afer
oy
MHaatonges dPuw oftds 4 e
g g .

i wafhiy o o gy $
od A
YAy tay wryEs
wrafdfisw wm alwters
arfarq w4 fEuite
gar @ Aiats

8% Which of the [ollowisg pairs satisfics
the conditions A, B, C?

86.

A,

B.

C.

ol e

Skeletons made of polymorphs of
CaCo,

Found in Palacozoic benthic
ecosystem

Morphological pianes of symmetry
are perpendicular to each other
Radiolarizans and Diatoms
Foraminifera and Ostracods
Bivalves and Brachiopods
Bivalves and Castropods

1 ¥ R qw @i B R 0¥ AR

watw

&1 T Az T

1

=8

qd NI U

o

w4

D Diwie

fesg

N
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84,

87

87.

Choose the cormect match of primary
structures in [ with their respective

envirpnnents in ]

a

i Il
| A. | Parting Lineation | a. Lagoon
B. | Plane laminated | b. | Beach
I mud ; ]
C. | Dropstones with | c. | Fluvial
faceted pebbles
D. | Epsilon cross- d. | Glacier
|| bedding _
i. A-a,B-b,C -, D-4g
2. A-bB-¢,C-dD-2
3. A-bB-a C-dD-¢
4 A-aDB-c, C-b,D-d
Tl P &8
A, | O ey [ | deid |
AT A=A
B. | 3w F. | f&sr
!}H =
C. | Wa™ quqq | . | #1g aem
D. | ®c8 qumw ¢ A
LA-FB-EC-G,D-I§
2.A-EB-HC-G, D-F
JA-FB-HC-GD-E
4 A-E.B-F,C~-H D-G
Maich the fallawing
A. | Differential | E. | Tafoni
weathiering
or Srosion
B. | Exfoliation |FE. | Pedestal
rock
€. [ Spherpidal | G. | Corestones
weathering
D, | Cavernous H. | Domes
il weathering i
LA-FB-EC-G,D-H
2. A~-EB-HC-G D-F
3.A-FB-HC-G,D-E
4 A-EB-F,C-HD-G

8

88,

85.

89,

89.

i T3t (A, B) & amane w w
fawsg g+
A. 198 I N @Y et @ wgd

B.

Rl e

@ AAGE HAWE FIHN

AR

B! OV BF gear #

™ fmelare w1 swer @
@& ¥ WPade ean warons

Hatge #

AT B Y med &
AT B mea ¥
A BT § =1 Boweg )
AToa 2 ov, B ud @

Given the following statements {A, ),
chnose the correct option,

A, The sediment size progressively
decreases downsizeam in spite of
the increase in channe! size and

Bl b

discharpe.

The cause of this fining is duc to
gradual attrition of the clasts apd
selective entrainment,

Baoth A and B are correct

Both A and B are incorrect

A is correct but B is incorrect

A is incorrect but B is correct

e e w9

B SR L]
TERY

A
B

il

WEW ga

i

T AT

AN -

E.B
G. B
F.B
E.B

Mateh the following

Landforms

Position

Esker

Sub-glacial

Sandur

Ige-marginal

Ketle hole

Pro-giacial

rﬂﬁﬂ‘.’:h

Kame terrace

——
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24.

J]. A-E,B-G,C—G,D-F

2. A-G,B-G,C-G,D-E

3. A-F,B-EC-G.D-E

4. A-E,.B-F,C-F.D-E
Channel A

Shanngl €

Fue fogr mar fyy fi= A9 @

Fwe wre g € arprea ol

@ gRew w @Y Tad IO H

guar |

1. aefgaren 399 A © 99 B Ay
C ¥ral @ woarey T3 iy 2

2. 98 iy ®% s * wm A9a
=T gtar & (399 A 9 B)

3. wgie Mg wgeh # =9 A9 ow
e wreres faad gt

4 wem R frerow st afy 99w
agEe P dter, fewar wanq
o 9 e faed aY

-Channel A

Channei B

Channel £

The above figure gives three channel
cross-sections. Examine the cross-

sections and identify the INCORRECT

snswer?

29

21,

9.

%2,

1. The semi-circular channe! A has
higher flow velocity than channel B
and C.

2. The faw velocity decreases when
the channel widens {from channel
A ta Bh

3. The flow velocity increases it the
channe! bed is boulder-strewsn.

4. The flow velocity will be minimom
if the channel cross-section is wide
and shallow and the bed is houlder-
strewn.

;a&ﬁmfuﬂw% v wdl 9o
I

TR A maﬂaﬁaﬁﬁﬂw

TWH F qgd ® FEU 49, w

@O g’1 wuees g

L O e S B TAFCa M T L
yHfETT #

1. Aqaq B g9t wdi &

2 A¢y B st Taq #

3 Auftd ovg B wea R

4, A TR # w] B Wl 2

Read the foliowing statements and
choose Lthe correct answer,

Statemoent A: When an  jacrease in
rainfall causes an ingrease in overland
flow, the outcome is accelerated soil
erosicn.

Statement B: The above s an
example of negative [cedback,

I. Both A and B are correct

2, Bath A and B are incorrect

3. Aiscorrectbut B is incorrect

4, A 1sincorrect but B is correct

TABT e o

A. [ g FEine | |, | Terer
T SR WG

B |ag = E. | I=1m
TS
g
Tt eian || TEE
aftaas igﬁ?."lir i

D. | v foein ay | £ | 3=veey
¥ aates wan
ATEN O]
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92.

93.

93.

t. A-HB-GC-FD-F
2. A-E,B-E.C-G,D-H
3. A-GB-EC-F,D-H
4 A-HB-GC-ED-F
Match the following
A. | Sub.zerial k. ] Pediplain
residual or
exhumation
features
B. | Selective trans- | F. | Yardangs
port by wind
C. | Coalescence of | G. | Descrt
pedimernts pavements
D. | Deflationand | H. | Tnselbergs
abrasion by
unidirectional
L | wind I
I. A-H,B-G,C~-F,D-E
2. A-E,B-E,C-G,D-H
3. A-G,B-E.C-F,D-H
4. A-HB-GC-ED-F

oor @@ afeva & ugArd | X—ae
T @d e v Y9 ov g

£

3 A LT

1 X .
Lo T Hgh

C - vgm, D —vsaidims
2. A—tWegfg B - femem, € —
ytauiedtyas, D — rddsm
3. A — Baree. B - grewiteltsa,
C - "®gs, D - fie gfg
4. A — T§F, B — gsteateleT,

ldentify the soil deveiopment processes.
X-axis is water input and Y-axis is
drainage.

L

94.

94,

95.

3 . A Lk
w - ——

1. A —Leaching, B — Peat growth, C —
Gleying, D - Pogzolisation

2. A —Pcat growth. B - Leaching, C --
Podzolisation, [} - Gleying

3. A -ieaching, B — Podzofization, C
— Gieying, D — Peat growth

4. A —C(ileying, B — Pozdolisation, C
— Leaching, D - Peat growth

T U4 pH 3.0 @it sfe & ordy 3
fSi® ) wee T Ww 4
ﬁaﬁlﬁmﬁhﬂm ot FOere o

% ¥ ot 03 sugam e @ frww
W 95 Y #?

t. WY TR 2. yAne
3. AT W 4. duree

Lake water with a uniform pH 3.0 has
dissolved zinc and sulfate. The zinc
concentration increases significantly in
the bed sediments of the stream flowing
out of the lake. Which one of (he
following is a likely lithology through
which the stream flows?
I. Sandstone 2
3. Limestone 4.

¥ & =9 g Rl 9fa efgw

% el 27

1. At g9f # W™ 89 gard. g
™ Wl

2. fom aof @\ &9 g, wan

3. Avdl w9l B urer wiw w9, gay

Granite
Bazalt
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95.

9.

96.

Which of the foliowing is characteristic

of a typical hurricane?

1. Strong winds with heavy raintall,
and warm core

2. Strong winds with no rainfall, and
cold core

3. Calm winds with heavy rzinfall,
and warm corg

4,  Strong winds with heavy rainfall,
and cold core

T A A ud s Tl 8T

31

ada aef gufq I &
151 aoled
A, | 0.58 - 0.6% v oy
Fary
B. [0.725- 110 | Fse 1
Faqad AT,
T
C. | 335-3.93 L L L] T
A, dad
ARGk L]
D. | 10.30— 1130 | aT8%T T mA
firmor, o
Gl i e
1. A 2 B
a ¢ 4 D

Which of the following is 2 MISMATCH?

A | 058 - 0.68

Wavelenpth Deyeription
pm [FET

Exarnples of

Visibie Human
inhabilation

B, [ 0725-1.10 | Mear

Infrared diffcrences,
penetrates

Haze

Land, Water

C. |355-393 infrared
dilfferrnee,

cloud

Temperaiure

teights
Thermal
mapping,
water
vapour

correction

x| 1030 - 113 | Indrared

o
L
A b
ow

97,

97,

98.

8.

R A B L E
wWEde Y& & #fw 3 87

1. AHFGE ¥ 4 R F a7 T
2. WHEGS YWY @ H{HT WAy

TR
3. gﬁmﬂtﬁﬂﬁﬁmﬁa
4, PErwAYer Wil B W
wnfaty

Which one is NOT a character of'a

tide-dominated shorcline?

1. Bars making high angle to

shoreline

Bars almost parzliel to shoreline

Double mud drapes layers within

cross-stratification

4, Common occurrence of
reactivation surfaces

2 T AR agwat A @ @l
T qaEe 99 ° W 1500 mm
@ Ftva aiffs oaf & ale aads
e & fod s od 87

1. Saerde—datende—gowse
2. ﬂmm

3 ﬁﬁﬁfE—?ﬁﬂTﬁhﬁlﬁE—

Wrﬂﬁrﬁmq T ATAE

Whick one of the following

combinations of ¢lays is best suited for

the weathering product of a granilic

rock under the mean  annual

precipitation of around 1500 mm?

1. stnectite — kaolinite — illite

2. kaolinite —illite — vermiculite —
gibbsite

3. smegtite — kaolinite — vermiculite

4. illite - aluminurn and iron
hydroxides

RN
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99.

et ¥ i oM owft um wwre
(g a0 919) O wRE aEE A4
7 W owmds & sy ¥ @ sl
L
e fa T 9 g
. [mgﬂ)
A, | e >250
B. | Yererga P 40 - 230
T |
C.|gm9er |G [20-40
ID_ [mw?ad @ (<20
1. A-EB-FC-G,D-H
2 A-F,B-G,C-H,D--F
3. A-G,B-H,C-ED-F
4 A-H,B-GC-FD-E

Which one of the matches s correct for

the

river

water chemistry  {Total

Digsolved Solids) and rock weathering

in their catchment,

following table?

given in the

| Predominant rock | Total Dissolved
hype Solids (mg/)
|A. [Regolith |E. [>250
B. | Siliceous F. |40-250
sedimentary :
rocks
C. |Limestone |G. | 2040
I:'ﬁ. Evaporites [H. | <20
l. A-E.B-F,C-G,D-H
2. A-F,B-G,C-HD-FE
3. A-G,B-H C-ED—F
4. A-H B-G,C-F, D-E
100, 5% T4 @i | RfRe a9
A, B C uEary
L A B C
aegdely (Aga | wem | 4ga
(B il et
qotet= o | WEdW | 9gd
qIHs | o9 SFGT
W uere] [ 9ga | ww EED
g7 sl | s oA

2-A-H

31

. AT WA-gmty, p-wd gy,

C—3T e

A—gHT, A4S HEATY,
C-Fg—am

A-TSE ¥gTR, p-ydw o—and
wterny

A—gdm,  B—mg-wwr,  c-argd

168,  From the given lable, identify ecozones

A, Band C.

I B A K C
Phytomass | very medium | very
{Tatal} small high
Leafarea | very medium | very
index small high |
Decay YETY gl very
period of | high small
arganic

[ matter

i.

2.

3.

4,

191,

A — Humid mid-latitude, B — Gruss
steppe, ' — Humid subiropics

A — Polar, B - Arid-latitude, C —
Seasonal tropics

A — Arid-latitude, B — Polar, C —
Humid subtropics

A —Polar, B — Seasonal tropics, C
~ Humid subtropics

TH Gidl # v 9 st dam

Bl ——— ¥ O SO9 Fra wiar 3

1.
F 4

3.
4.

161.

fawenfiafl waq et
w ol ate wy Prad

fArenfal o ofamer fawtg

The maximum extent of glaciers in a

valley is best indicated by

I
2.

3.
4.

Erratics and tam

Glacial trough, aretes, and hanging
vailey

Erratics and terminal moraines
Cirques, end moraines and tarn
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102,

103,

103,

 2-A-H

™ T OB 9F Ay w oy
Qe |

[ : 91 Teerd & A #
mmaﬁm}mﬁﬁgm
A AEOE W anger st afiae
aFE [AE ¥ |

IT : = gwiet & wzdhaf & oY
#r oY el v yenm udfaea

1

WFraTT % RT3 S e

sterer o whedr &

T ¥t # v 11 wremr
T wea @ v 11 i &
. Tgay I 2% wé) &

Tem] I g9 waa &)

A w N o

Bead the foilowing statemeats and
identify the correct answer,

I : Tropical deserts are less common
on the east side of the landmass
because trade winds carry considerable
amounts of moisture onshore,

i : On the west side of the continents in
mid-latitudes, higher average precipi-

tation oocurs due to convergence of

maritime air and orographic intense-
fication.

[. 1iscomectand Ilis incorrect

2. Tisincorrect and El is correct

3. Both!and I are correct

4, BothTand I are incomect

™ OwEd % R W
T exp({—faw) # i T gUET

2. I wagH o wog b oafs
imﬂﬁﬂwﬁﬁﬁmﬁﬂﬁﬁ
i

3. AW Wi 2% @ wAEeTd
T WAF wown |WRH oW
T b

4. AR A WY ATaeT wWeeH
BT 0% Wi el 2

The Fourier transform of a fimction is

r exp(—iae). Then its

1. amplitude and phase spectra are
both independent of w.

527 CISR/M8-2AH—3A

104.

104,

108,

2. amplitude spectrum is independent
of o, while the phase spectrum is
directly proportional to w.

3. amplitude spectrum is directly
proportional @, while the phase
spectrum is independent of .

4. amplitude and phase spectra, are
both directly proportional to .

T 4% WAE 5§ B W U & favg
B forew avme v o g @
e st et g # hn oeh S 2
sEy r @ s d mfig P
R 5 W el fivg a1 5 ® v Rt
fig 7% ™ P w qwe v ehn

1

ol U G- R
2. ﬁfs :UE% G)—E%E.ds
s onl m (e
T P RS L

U/ is the gravity potential over a closed
surface 5 of volume v enclosing a
distribution of matter, n is the outward
norma! to £ and r is the distance from a
point P outside 5 to any point on 5 or
inside 5. Then the gravity potential at
Pis

S 11; v [U% (;1-
1

5 o [u;";(— ~128 4

o
i
I =
2
[ 9

el r r dn

I g 1 1 8i
3 e Q) +igla

1 & 11 1 a4y
4ol [ @ +inle
rdam o gat R R dwr w
Tefy ® Ywew & B Fow 5.186
gels ¥ I wwE & A W oqedt
¥ yofa ofr &t 25% % = &t
ot ¥, ue TEw Al W gy
T —— gals x|
1. 2.54 o2 3T
R 4. 430
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105,

106.

106.

7.

107,

The difference in the Earth's gravity
fields at the poles and the equator is at
present 5.186 gals. If the velocity of
the Earth’s rofation is reduced by 25%
of its present value, then the difference
in the gravity fields would be arcund

{in gals)
1. 2.54 217N
3 3381 4, 430

™ e vitefier, @ife vs
Wefifra w3 augfa Irmw
@ ey #, & um fewa faftm o
frdam® 20, 24 v9% 28 km w THA
FETS FEY: 1.2, 2.4 A9 3.6 mgals
8 wmvdd @ TRRAr ( km #)
— &t

1, 2 2. 22
3 243 4 4
Cravity anomaly values of 1.2, 2.4 and
3.6 in mgals are located at distance
coordinates 20, 24 and 28 kmn,
respectively, along a gravity profile
across a faulted basement of limited
throw. The depth to the basement {in

km)is
F 2 2. 242
3. 243 4, 4

gH 26 km "I wd wurr ot
HAE 27 giee @ — 176 mpals TR
A gEnfa @ wEfa # wow
arg FETd —— TR (A dfifr
G = 42 mgalkm/g/cc)

1. 51 mgals

. 51 mpals

—B8 mpals

88 mgals

B ow N

A 2.0 lan thick elevated land mass of
density 2.7 gfec is associated with a
Bouguer ancmaly of 76 mgals. The
free air anomaly is (assume that
2rG = 42 mgalfkam/glec)

1. —51 mgals 2. 51 mgals

3. 88 mpals 4, 88 mgals

34

108,

108.

109,

109,

TF 70000 km 3 arar 76 aow
fogaa ¥ar ™ 42 De W gEEw
a3 Rwmr ) geee  gaiw
cos ' [V3/4) # v @ waE W TER
qReed 43 {gammasim W) 3 fis
& &Y T 3m?

1. 205 2.
3. 0.i23 4,

4,50
0.0225

A planet of 70,000 km radius exhibits a
magnetic field of 4.2 Oe at its equator.
What is the rate of decrease of its
mzgnetic field (in gammas/m) on its
surface at the location of magnetic
latitude cos™' [¥3/4]?

1. 205 2.
3. 0125 -3

Two dykes A and B of the same width

and depth strike E-W. Dyke A is

vertical, dyke B dips at 80° towards

north. The dips of magnetization of A

and B are, respectively, 60° and 30°

towards eorth. if the intensity of

magnetization in both the cases is the

same, then the magnetic anomaly

profiles acrass them are....

1. ideritical, both in shape and size.

2. similar in shape, but the aromalies
due to A are larger.

3. similar in shape, but the anomalies
due to B are larger.

4. dissimilar,

527 CISRA8-2AH—3P
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110

1140,

1L

I11.

£12.

U5 5§ g9y ma Pl # o=
% 188 Oc et 29 4 wifg
forar

wrar # 94 3 v 21 gauss @r
e geww weftfe mwar @

e & grdm mgfr —  (egs
e &) 3

1. 0.21 2. 0.6

3, 0.13 4« 0.10

A strongly magnetic  gpherical

Specimen, when exposed (0 & magnetic
field of 18.8 O¢ exhibited 2n induced
magnetism  of 2.1 gauss. The
susceptibility of the specimen (in cgS
units} is

1. 021 2

Statement 1 : PKP phase of a seismic
wave is refracted twice at the mantle
core boundary, while the PKIKP phase
is tefracled twice at the inner-outer
¢are boundary as well

Statement 1I : Both the PKP and
PKIKP phases are not recorded in the
shedow zone

1. Statements I and I} are true

2. Statement [ is teue, but 11 is false

3. Statement I is false, but II is true

4. Statements | and II are false

35

112

113,

113.

114.

114,

1. KQK 2.
3 KHK 4.

HAH
QHH

Which one of the following Vertical
Electrical Sounding (VES) curves is
possible over a 5-layered horizontaily
stratified Earth? Assume each layer to
be isotrepic and homogeneous, -
1. KQK 2. HAH
3. KHK 4, QHH

uﬁtﬁaﬂhm‘?‘ﬂaﬂ‘ﬁ’tlmnﬂ}w
T Wi FTw W 100 km W
W T uftm el wid dww
Hrer§ wq $hfr?

1. 60km & &n

2. 50 \9H 100 km @ %R

3. 100 P 150 km @ mer

4. 160 km ¥ frw

What will be the thickness of a moving
oceanic lithosphere at a distance of 100
km from the mid-oceanic ridge, given
the average plate velocity of | mm/yr?
t. less than 50 km

2. between 50 and [00 km

3. between 100 and 150 km

4. more than 150 km

¢,
P

. WU QT

A 2-D seismic reflection survey s
carried out over a two laysred medium
with a dipping interface between them.
The dipping interface in the migrated
section appears

1. shallower and steeper

2. deeper and steeper

3. shorter and deeper
4. longer and deeper
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115,

114.

1164,

117.

A, sin(1/6) &

& 9igET ot et ot sem we
™ Afwr o 9 P owt 30°
F mma & | ufy wew wre
B P ww WY 3 kmisec T wiE
B 60° 2, WA ATHTT ACT @
Fuad= Hor —— #hy

sin'(1/4)

2 sin'(1/3) . 4 sin'(1/2)

A P wave is incident at an angle of 30°
upon a horizontal interface separating
two media which are both Paisson’s
solids. If the P wave velocity of the
first layer is 3 km/sec and the critical
angle is 60°% then the angle of
refraction of the shear wave is

1. sin'{1/6) 2. sin'(1/4)

3. sin'(1/3) 4, sin’'(1/2)

a6

1.m[mllﬂa§.mﬂ'

ot wrear T o # )
2. FRer [ oqeq O wd &, o O0
Y e I = #f $X W |
3. weore [ adh 8, ue=yg I waa
4. T [[adt &, o=y 1 w@m 2

Statement I: Vertical component of

electric field is not measured in

magneto-tetluric surveys,

Statement 11: The reflection coefficient

between air and Earth is —1.

Which of the following is correct?

1. Statements I and II are troe, and I
explaing I1

2. Statements [ and I are true but 1
cannat explain 11

3. Statement I is true, but 11 is false

4. Statement 11 is true, but 1 is false

vy 3 wor W fagm &9 @
g‘ﬁﬁuﬁaﬁawwmtl

% ®=d gY % am fwen ~i0t

117.

118,

118,

119.

119,

m’s” ¢, fraat & Rrav st —-

T WS =AIfE | .

1. 3¢m 2. 15¢cm

A 25om 4. 35cm

It is required to rmeasure daily

variations of electric field at the surface
of the Earth. Considering the thermal
diffusivity = 10" m’s™, the top of the

tlectrodes should be buried at
1. 5om 2. 13cm
3. 25cm 4, 3%cm

W AHFH FTTat wegar 10% 3
T ¥ ogam #) arw el @
HEEh A P AT WY 4 kmis 2
A & Ftwa p g afy —— 2
1. 327 km's 2 342 kmis
3. 3.62 km/s 4 3R2km/s

A sandstone has a porosity of 0%
which is filled with water. The velocity
of the P wave in the matrix of the sand
grein is 4 km/s, The average P wave
velocity in the rock is

I, 3.22km/s 48
3. 362kmis 4.

w fdordt Wam & ooy @ #
TH 02 m ITANE A B wdw @
0.t ms™' B wfr R} o wwm 2| Ww
AR owa A oW s Ty

3.42 km/s
3.82 knvis

TR P BX 107N s m gay

1000 kg m™ ¥ oy o — wwr
|

1. Fifws /el 35me

2. @i v

2. fge asm

4. AT 1B

It a cooling tower of a power plant,
water flows in 2 pipe of inner diameter
0.2 m with a velocity of 0.1 ms.
Assume water’s coefficient of viscosity
and density are 8 x 107N s m™ and
1000 kg m™, respectively. The flow
will be characterized as

L. critical/transitional flow

2. laminar flow
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1240.
CYEd) i WA agiem

128.

3. turbulent flow
4, eddy flow

1 e Rgtw W w® (g

MU W @ = &t we ¥

R 7 ¥ 4 P e o
whiet T sgw W@y s w1 w
v (5} @ TSI FAEN @ Fregm
Hear #

1. D 2 €

3 B 4. A

Consider the foliowing picture of dry
adiabatic lapse rate (dashed line) and
vertical temperature structure in the
ainbient atmosphere:

Temperature
Which of the above represents the
temperature inversion condition apd
lofting behavior of the plume from a
stake (s)?
l. D

2 O
1B 4. A

37

121.

121.

122

A gmwm WA i, et w
0°C 9 3 T g@w 273°C we &, @
sl qvl # F ® Fgmm ww
ghm?

1. ~62.5 2. ~0.625

3. ~0.0625 4. ~625
What will be the ratio of rates of
encrgy released by two otherwise
identical blackbodies, one of which is
at 8°C and the other at 273 *C?

. ~62.5 2, ~0.62%

I, - 0625 4 -~625
Ad WTeT TP ¥ wmm dud

st @ wuv Twr sy gt

122,

123.

dT ga® @ ' w R ——

t. ARdR fF @ Ay arnen
BT 850 bPa 4¥ Qo @Y ovw Har

2. URq % Uff 92 ¥ wry gff ey
™ B

3. foma o= 2w @ Wy awah
#ffam

4. T8 Tl | coter weddy
Iyl de waE &1 997 3 a0s
R IR

The existence of the trapical easterly

jet stream over the Chennai latitudes

during the Indian summer monsoon is

dee to

1. poleward decrease of air tempera-
ture at 850 hPa over the Irdizn
region.

2. the presence of the eastern ghats

- atong the east coast of Indis.

3. the anticyclonic cutflow from the
Tibetan high pressure.

4. the sorthward migration of the
subtropical westerly fet stream in
the northeen hemisphere.

ol wrand ¥ 45° amig s =Rry

FTT ® @Ag wuse ., Wl
Rty s —— gty

i. 45° 2 215°

3 6.5 4. Q-



2-A-H

123, At a latiude of 45° in the northern

124.

124,

125.

hemisphere, the solar zenith angle ar
noon on the winter solstice s

1, 459 ' 2. 21.5°

3. BR5" 4. o

T ¥ =i ﬁ AT
HEelly ey aim & faghw

gwmmé?

f. W srEe i qEy Eolf
mﬁ?ﬁﬁﬂ,ﬁﬁﬁﬂgﬁm
o 3w andtr iy eve &)

2 ST W AT AN WYE AW
e fam ¥}, oy oW
sram S @& wer wwdm gy
by TS an

3. WTaEET UqH  AYs
Tl A ¥ 2, wvg o amam

wars & A Rere §
4, I gEEER AN ogaw wWE Aw
e faer # B, TS

wa&ﬂﬁm%mﬂ
|

Which of the following statements
characterizes the internal atmospheric
Eravity wayes?

1. Their phase velocity and group
velocity are oppositely directed, but
their amplitade increases
exponentially with altitude.

2. Their phase velocity and group
velocity are in the same direction,
but their ampliiude increases
exponentially with altitude,

3. Their phase velocity aad group
velocity are oppositely directed, but
their amplitude remains constant
with altitude.

4. Their phase velocity and group
velocity are in the same direction,
but their amplitude decreases
expenentially with ahitude,

HIRHEY ArrRt ¥ aRdE 9 s

WY P A Tesiead aeaa 3

v Wy T8 fead, it

1, CIiSK witsar 8 wrd wwft

2. Ay 9ERl 8 R e 9o
WAE TIAS HEgE Td #

ag

125,

126.

126.

127,

127.

3. wst dfrer ;1 & w afy ¢q
TR aysue fnme

4. wGHE W@y §  gefre smear
o1 Aeor ghar @

Tropical cyclones of the severe
category ate not observed over the
Indian seas during the Indian summer
MONsoon season because

1. The CISK mechanisin does not
operate,

2. The observed sea surface
temperatures over the Indian seas
are not conducive,

3. There exists a very strong vertical
shear of the horizomal winds,

4. Excessive humidity is observed
over the Indian seas.

TH 35°C ey geH W0g weene
T fam. yew m‘g‘ﬁmﬂf e
R FHgw A We @ wewd
HIOHTT T B

t. 39.5°C 2.
3 31.7°%C 4

40.5 °C
igorC

What is the virtual temperature of an
unsaturated air parcel with temperature
of 35°C and mixing ratio of 30g water
vapour kg™ dry air?
1.39.5°C ' &
3.41.7°C 4.

40.5 °C
18.9°C

H [5°C & amammRw 7 20°C W
FOIE RN aid dwisfedtfry e
qee g gt W owf ww @
GoTdIe #el B a8

1.0.07 ms2

2.017ms™?

3.0.27ms™?

4,037ms™?

Find out the buoyant force acling on
tropical tropospheric air parce! of unit
tass &t temperatzre 20°C in an
environment of temperatire 15 °C
1.0.07 m 52

2.017 ms 2

3.027ms™?

4.037ms 2
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128. gwrpfeddm ayssa f uw W

118,

129,

129,

A0l wuedl wnle (MCC) o &

1. W@ o afrmiey @ saw o
gﬁnﬁq"haﬂmﬁﬁﬁw
t

2. AT ufsasEn ot s W
WAl & AN W aF ved arEr
v a3 2

. TV afgwHm @ afya =
wifed neefe &)

4. eRF¥et W e uwiEr 2 et
TAT9E Hra el &

A Mesescale Convective Complex

(MCC) in tropical atrmosphere  is

actaally...

1. a rapidly rotating tomadic cvclone
imside 1 massive thunderstorm

2. individual thunderstorms that grow
into 2 large, long-lasting weather
system :

3. acomplex display of lightning
from dislant thunderstorms

4. a family of tornadaoes that do &
great deal of damage

There are two cloud layers above ¥ou,
The lower cloud layer is moving
westward, while the upper cloud layer
is moving northwestward. From this
observation you conclude that the wind
is with height and
advection is occurring between the
cloud layers

t. veering, warm

2. veering, cold

3. backing, warm

4. backing, cold

13,

130,

131,

131,

132.

132

A afyvsw wgsd @ &
A —— R v w1 va frey
M —— Sraf¥ry atar &

1. HOTIONE, FEOTeHE

2. GAMHE, WIS

1. HH9TORR, YOTE

4. WOTCRE, OTRuE

The upper part of 2 thunderstorm cloud
is normally__ charged, and the middle
and lower parts are charped

l. ncgatively, negatively

positively, negatively

positively, positively

negatively, positively

SRR

L
in the equation for conservation of
momentum, which of the following
forces CANNOT act to chanpe the
speed of the wind?
b, Pressure gradient force
2. Gravitational force

3. Coriolis force
4. Frictional foree

STPT Ao ¢ wer Aof wfowd @y
v fRAr W wan 2 ABmE @
W Her-HE WY & o o aeem
Y W7 (Af) Ty amda?

1. 1203 2 95

3. 110s £ 100s

For numerically forecasting a tropical
cyclone in the Bay of Benpa! with
wind maximum of 50 m 57,.& meso-
scale mode! might be used . with
horizontal grid size of 5 km. What
maximum time step (A1) is allowed for
a leapfrog version of advection?



2-A-H

133,

133,

134.

. 120 -2
i 110z 4.

R w smenat 3 9

T R weeY g genat

o Fd #7

() Wl ger  Feedm e
TR ¥ WG WoE ATTA BT
:meﬁmmt

(i) Eﬂﬁﬂ#ﬂ:ﬂ?{ﬂﬁéﬁ‘l
G A

(i) T fgafa R qzmpr o
U AYSTHT &7 Jeram g

- i), (i) w@ (i)

. ®aF (i) 79 (ii)

. BAA (§) v i)

. A (if) T (i)

Which combination of the foilowing
conditions applies to the positive
Indian Ocean Dipole events?

(i) colder than normal sea surface
temperaiures in the western tropical
Indian Ocean.

{ti} These events are seen from May o
October,

(iii) Shoaling of thermocline in the

eastern equatorial Indian Ocean.

(i3, (i) and Gid)

90 5
100 s

W R -

15

2. Only (i and (ii)

3. Only (i) and (ii})

4. Only (ii} and (iii}

et B v Arf o oatew wh
fafareor -ﬂlq'ﬂﬂqgé Wm: %)
ety Tt 034

smfaa fafeer 5 67 an:g

TLTEA F Fmwife g 3
FamE, 390 W geft & woE @
e R @, e §3% oy 3
WIE # Tgaved T S e
AR W R @ pveda st
W e afyEE 24 Wme? ¢
W T &9 aftyag —
]

~145 Wmn~2
~102 W2

1. ~79 Wm™? 2
3. ~267Wm™2 4

134,

135,

135.

The average solar radiation incident at
the top of the Earth's atmosphere s
342 Wm™, The global planetary
albedo is 031 2ad 67 W™ of the
mcident radiation is absorbed by the
atmosphere. On an averags, 39¢ W2
is lost from Earih's surface of which
83% i3 absorbed by the Earth’s
atmosphere. If the plobal gverage
sensible heat flux away from surface s
24 Wm™3, the global latent heat flux
would be

l. ~79 Wm~2 2.
3. ~267Wm™2 4.

~145 Wm™?
~102 Wm™2

frftea f58 o wwd ¥
20
£ é
o
2
H
& . : =
3 Ers 5
Saliniey
1. 1 2 2
3 3 4, 4

How many water masses can be traced
in the following graph?
i1 B

L

1i

Terperatume ("C)

33 3

[ ]
[TER—
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136.

136.

137,

%ﬁq?wmﬁﬁﬁmm
98, 0% War gwmt sr
mﬁﬁgwgﬁiﬁaﬂ

]
:
:

=

If you were planning to drift in a raft
across the North Atlantic from Enrope
to US by making use of ocean currents,
what would your route be?

1. At first nocthwestward with North
Atlantie drift, then southeastward
with the Gulf Stream

Z. At first southward with Canary
Current, then westward and finally
notthwestward with North
Equatorial Cutrent and Gulf Stream

3. At first westward towards the
centre of the North Atlantic Gyre
and then further westward

4. Just follow the straight path from
Europe to US

st @ wag afsw wradla adg

=5 {WICC)

1. 9 gavhta o= & 9y aav #1
v agdr #

2. fr=1 ooofls o & arw <Ry @
T aEdy #

3 T S w9 P Wi Soe
WE A ¢

4. 9O @i W 3 Wi =ilyer Y
TE Wedt 2

137

138.

During winter, the West India Coastal

Current {WICC) flows

1. towards north carrying low salinity

witer

2. twowards south carrying low salinity
water

- towards north carrying high salinity
waler

4. towards south carryving high salinity

Lad

A B C
1. (AT (B) 2 (C)ww (D)
AT (D) 4 (B)ywmT (C)

138. Which of the following combinations

of coast and wind, given in the
diagram, will lead to upwelling of
water in the southern hemisphere?

ISR
A a L o] .
L. {A)and (B) 2. (C)and {D)
3. (A)and (D) 4. {B)and ()
139. vwsleddy werannt 4
it @ W frewr o wwad
Concentration Concentration
AD BO
£ E
5 =
£ 3




2-A-H

139,

140,

Concentration Concentration

Depth{m} o
Depth {m) &

S00 500

1. A—dTf@av, B—anigde,
C—¥a¥H, D-aGifm :

2. A—uifem, B—ad@e, C—aald
D—affdrem

3 A—Tatfe, B—altfrmoe,
C-afgm, D-—Tdde

4. A—gE, B—atfraee C—
T, D vy

Identify the correct representation for
following profifes in tropical oceans

Lontentration Concentration
AC B9
£ z
=
§ £
&
500 500
Concentration Concentratian
Co Do
3 z
§ £
&
500 500

1. A-Oxygen, B —Nitrate, C —
Chlorire, D — Thorium

2. A~Thorium, B - Niteate, C -
Chlorine, D - Oxygen

3. A—Chlorine, B - Oxygen, C -
Thorium, D - Nitrate

4. A —Nitrate, B — Oxygen, C —

Chiorine, D — Thorium
gwa wqE W W gem A
NS e e e 3§
wehe : wEIRaw B aqym ——
siaT|

42

146.

141,

141.

1. aftyw

2. ®H

I WREl A s ey
dnfyraa it ¥ =y

4. wrnz;ur q B o Al
T A oo

The sulphate:chloripity  ratio, in

estuaries and  anoxic basins, as

compared to that in the average

seawater, 15

i. higher

2. lower

3. higher iz estuaries and lower in
anoxi¢ basins

4. lower in estuaries and higher in
ancxic basins

Preras arfraee &= (OM2Z) @ oo
e Mif¥FsE (DO) 85 pmol kg #
¥R AE AT o ¥ 5 T DO
Agar 220 pmol L L) 4]
mﬁmﬁmﬁakg i
{CH:U}153fNH;}15(H;PD4) 2|

AT AT A F 5 gereft wos - OMY
WA S 21 @ UeawIw @ ey
ﬂﬁggqm'zmmmzaﬁm
L g

1. 10 pmol C, 10 pmol kg™?

2. 10pumol C, 20 umol kg—*
3. 100 umol C, 30 pmot kg™*
4. 100 pmol C, 40 prol kg1

The water of the oxygen minimum
zone (OMZ) has dissolved OXygen
(DO) of 85 ol kg 1. By assuming a
surface  IXD  comcentration  of
220 umolkg™ and physoplankton
molecular formula of
(CH20)t03(NH;)16(H:PO,),
kow much phytopiankton was minera-
tized and, what is the nitrate concentra-
tion by assuming that the photic layer:
OMZ ventilation rate is 2:1?
1. 10 pmol C, i0 pmol kg1
10 umol C, 20 umol kg™

2
3. 100 pmol C, 30 pmol kg~*
4,

100 pmel C, 40 pwmol kg1
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142.

141,

143,

WiTtE i o 9 '
ud atelfrs arear @) ger §
ppmy pCO; WY ATl T I8
Y % wag pCO; 2 mmol m” A
e wg woE fe dled &
4 gL 9P W §¢ Al W
T Y

[aiweT -

Ku{C0O1) = 30 mmol kg™ atm™*;
CO, ®7 fémeor Toris

=2 % 107" em*s~1:

fred $1 AMeE=20 ym

71 o 1kg=1 Litre]

1. 0.04 pmolm? ¢

2. 04 pmolm?s’

3. 1.0 pmol m? s

4. 01 pmol m™ 5™

ﬂi%’-ﬁe

:

Anthropogenic activity has increased
the atmospheric pCOD; by B3 ppmv
relative to the pre~industrial
concentration. Caleulate its increased
flux by assuming that the surface pCOy
increased by 2 mmol m™ and using the
stagnant surface film model.

[Data KH({:OE) =

30 mmol kg™?! atm™!; Diffusion
coefficient of '

CO; = 2 % 1077 em?s™1; Film
thickness =20 um; Consider ] kg =}
Litre]

. 0.04 ymol m? 5™

2. 0.4 pmol m? s
3. L0 umolm™ s':

4. 0.f pmolm?s

T AT Gerd ¥ OIF e,
dtard wet WA et (o wiEh) e
et @ ufefrmat w1 s s
wY R wfows A X2 el 2@
G 9 I9 dreyl sEwsH &Y WGy
ot 43 BT wwaA R/ smaver @t
el weor &)

143,

Fish numbers
Increazing
U
£a3 urchin
d numbsars
Increasing

¢

Corsifaigee ratio
Increasing [maore coral]

1. Fgargd 4 =A@ Wl v Ao
oEor #§ Bl

2. vid ardt s ARt Fregra g
Al YR o gl

3. O W ARy A el o
€ T G|

4. faF1 woey wewr A & S
F1 ot oee S

Using the given information from the
graphical model ({(below) depicting
responses of corals, algal grazers (sea
urchins) and fish to fisking pressure,
deduce the ideal condition that enables
increased coral growth/cover

Fish numbers
increasing
%
S2a urchin
-» numbaers
increasing
L
Coral/algeeatio

Increasing (mane corad)

l. Abundant sea urchins and reduced
fishing

2. Higher removal of sea urchins and
increased fishing

3. Preponderant urchins and
dominance of fishes

4. Prolonged survival of urchins
without fishing pressure
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144,

144,

Number/weight

L L

It the figure below, in spite of the least
possible number of species (8) at point
C (sewage discharge point)  hoth
abundance (A) and biomass {B) are the
largest around C. Given your
understanding of the impact of sewage
outfall, what would be the situation
from the view point of rearing
Sargassum sp around C7

Detrimentat
Congenial
Non-profitable
unchanged

Bt

145, 83 = wuh

145,

146,

146,

oAt P L3
mmmﬁm%

1. BT Wi -Taw Pes
M wafear

2. HIT® FASTEN FRAaEm ww
g BT

3. AN WE->wIH wRiT_s
PEEUGE X

4. W FEfET- TS
TR mAT 2w

Identify the comect sequence of trophic
cascade from the following sets of

-marine organisms

I. kelps —» sea urching — kitler
whales - sea otters

2. kilter whales — sea ofiers sea
urching—» keips

3. seaurchins - ses otters — kelps
—» killer whales

4. sea oiters "— sea urchins — kelps
~ killer whales

fed 72 WTitrarr ¥ 3

st v ﬁﬁ;—m mﬂg u#
ﬁgmw Bioifagisx

1. ; i
e )

2 iFliiEL ilﬂlﬁlh. W

3. f=drfe, wmdive, Tioifg #:1t

[+

4. i, eatatae, oy

Which one of the folowing sets of

marine fauna best represents hacter

vory?

1. foraminifera, eoceolithophores,
radiclarians

2. bamacles, bryozoans, brittle stars

3. tintinids, cifiates, heterotrophic
nano-flagellates

4. larvaceans, anthozoans, anemones
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147,

148.

e W oAy wfa ggare dvmdc
ur wlve 218 ¥ | S@ v F g
() maq (D) & waw ¥ gae
® B yEa
3 km 5 km

| [GaCO, [ Opat | CaCO, | Opal
1. P D D 3
2. P p D P
3, D P P D
4, D p P P

‘The biogenic sediments of the seaflcor
are of caleite or opal. Identify the
correct combination in the following

regarding  preseevation )  and
disselution (D) in the water column.
3k 5 km
CaC0; | Opal | CaCO; | Opal
i P 3] D P
2 P F D i
3l D P p D
4 D P P P
W A TRR uEl S 4o
W W B #® WO ¥ WM Sy
BrarT Y
BT A =T B
A | CaCO; > 30% [ N[ o
% W YAl
L L]
B | CaCO; < 30% | O Hultame
¥ W™
AT
LL
C 1 CaCOy < 30% | P | vy
& Wy
D | CaCOy <30% | Q| et |
@ Wy fHgqu®
G
E | fufwerga R | =%
Y oY
F | ®r=a S | Tehr-me
TR

45

148.

149,

Maich the appropriate deep-sea sediments
types in Box A with those in Box B

Box A Box B

A | Calcareous N | Chent
niuds with

CaCO; > 30%

B | Volcanig O
muds with
CalOy < 30%

Sapropelite

C {Pelagicciays | P
with CaCds <
30%

Feldspar

Radiolarian
OORE

D | Terigenous Q
muds with
CaCl; = 30%
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Four marine processes had to be dated:

(i) Particulate flux to the ocean floor;

{ii} Holocene sedimentation;

(i1} Pleistocene glaciations:

{iv) Manganese nodule prowth.

What are the respective appropriate

chronological methads?
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Which of the following sedimentary
features can be used 10 identify a deep
water debris flow product {debrite) in
the continentzl siope?

1. Ripple marks and inverss grading
2. Floating clasts and massive sands

3. Normal grading and dish structure
4. Siump fuids and sheets
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